JTJ-051-93

L )
2 MOL0L-93 .ot
2.1

2.2

2.3

2.4

2.5

2.6

3 TOL01-93 oo
4 TOL02-93  coeeeee oot
B e,
5.1 (T0103-93)

5.2 (T0104-93)

5.3 (T0105-93)

5.4 (T0106-93)

B e,
6.1 (T0107-93)

6.2 (T0108-93)

6.3 (T0109-93)

6.4 (T0110-93)

6.5 (T0111-93)

T e,
7.1 (T0112-93)

7.2 (T0113-93)

73 (T0114-93)

B e,
8.1 (T0115-93)

8.2 (T0116-93)

8.3 (T0117-93)

0 e,
9.1 (T0118-93)

9.2 (T0119-93)

9.3 (T0120-93)

10 (TO121-93) .o,
11 (TO122-93) .. eee et
12 (T0123-93) ..cv e
13 el
13.1 (T0124-93)

13.2 (T0125-93)

13.3 (T0126-93)

13.4 (T0127-93)

14 (TO128-93) e e e
5 el
15.1 (T0129-93)

15.2 (T0130-93)

16 (TO131-93) oottt e,
17 el
17.1 (T0132-93)



17.2 (T0133-93)

18 (CBR) QI 7 K

P

19.1 (T0135-93)

19.2 (T0136-93)

20 e e

20.1 (T0137-93)

20.2 (T0138-93)

21 (TOL139-93) 1euee et e e e

22

22.1 (T0140-93)

22.2 (T0141-93)

22.3 (T0142-93)

22.4 (T0143-93)

23

23.1 (T0144-93)

23.2 (T0145-93)

23.3 (T0146-93)

24 (TOLA7-93) e e e

25 (TOL148-93) .euee it

26 (TOL49-93) ..t i e e e e e e e

27 (TOL50-93) 1euve et et et e e e e

28 (TOL51-93) ceuee e et e

20

29.1 (T0152-93)

29.2 ( ) (T0153-93)

29.3 (T0154-93)

29.4 - (T0155-93)

29.5 -- T0156-93

29.6 --EDTA T0157-93

29.7 -- T0158-93

29.8 --EDTA T0159-93

29.9 -- T0160-93

30 T0161-93 ....oeiiiiiiean.

31 TOL162-93 oo

P

32.1EDTA-- T0163-93

32.2 -- T0164-93

1

33.1 T0165-93

33.2 (R203) T0166-93

33.3 T0167-93

334 T0168-93
A
B
e
D UM e

L e

2



2.1
2.2
2.3
2.4
2.5
2.6

5.1
5.2
53
54

6.1
6.2
6.3
6.4
6.5

7.1
7.2
7.3

8.1
8.2
8.3

9.1
9.2
9.3
10
1
12
13
13.1
13.2
13.3
13.4
14
15
15.1
15.2
16
17
17.1
17.2
18
19
19.1
19.2
20



20l
20,2 e,
2L e,
22 e,
22 e,
222 e,
223 e,
22 e,
23 e,
23 e,
232 e,
233
2 e,
25 e,
2B e,
2T e,
28 e,
20
29 e,
29.2 ( ) el
293 e,
29.4 e,
29.5 e,
29.6 “EDTA e
29.7 TP OTRPRURPRRS
29.8 “EDTA e,
29.9 T TP U U TP TTURROTRTRURORPOY
30,
3L e,
32 e,
320 EDTA el
32.2 L,
33 e, )
330l e,
33.2 (R203) oo
3303 e,
334 e,
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1.01
1.0.2
1.03
104

1.05

GBJ123 88

GBJ145 90

A



2 (M010-93)
2.1

2.1.1 (

2.1.2

2121

2122 (LY (Lp) (Ip)

2.1.2.3
213 * z
248
214 214

2.1.6

Cu=dgo/dy (2.1.6-1)
Cc
Cc=(ds0)*/d1o*dgo (2.1.6-2)
le d30 d60
2.1.7
218
2.1.8.1
B
Ba
Cb
Cha

C X ) sl

2182

o

2.1.83

T

2184

St
2.19

2.2

(T0115-93) (T0118-93)

(Cu) (Cc)

10% 30% 60% (mm)
(L) (In)



221
221

1
2
2211
2212
222
2.23
224 ()
2241
2242
225 ()
2251
2252
226 ()
2.26.1
2.26.2
2263
23
23.1
232
232
2321
(1) Cu>=5 Cc=1--3
@ 2.3.2.1(1)
2322
2.3.23

2.3.2

Q) A
@) A

233

2331
(1) Cu>=5 Cc=1--3
0]

233

0.5mm
0.25mm
0.074mm
2.3.3.2
2.3.3.3

€y A
@) A

24
241
24.2

241
2421
2422
2423
243
L, <50
L >50

50%

75%
75%-50%
50%-15% (
15%

()
(

50%
50%

50%
50%

()

50%
50%

5%

5%--15%
15%

Ba

Cha

)
)

SIB

GW

50%

233
5%

2.3.3.1(1)

50%
50%
75%
5%--15%
15%

50%

25%
25%--50%

SW

Cb

BS1

SICb

GP

GM
GC

SP

SM
SC

2.4.3)

221

Cbs1

GF
50%

SF
50%

241



243
A
CH
Ip=10 CL
A
MH
Ip=10 ML
A
B A
2.4.4
105--110
243
A
CHO
Ip=10 CL
A
MH
Ip=10 ML
A
B A
2.4.4
105--110
243
CHO
1p=10
A
CHO
1p=10
A
MHO
Ip=10
252
(CLY)
(CHE)
(MHR)
253

CLO

CLO

MLO

> >

cega>

(T0151-93)

cei>
ceg>»

(T0151-93)

L <40%
U|_>50%
L >55%



%

)

0.3--1.0

0.3--0.5

1-5

05--2

2-5

|
|
| 5-8
| |>8

|>5

Cl/S0,22
CI'SO2=2--1
CI's0,2=1--0.3
Cl/50,%<0.3
2.6
26.1

2.6.2
22 24
2.6.3
2.6.3.1
2.6.3.2
2.6.3.3
2.6.4
26.4.1
2.6.4.2
2.6.4.3
2.6.5

2651 1
2.6.5.2 1--3
2.6.5.3 3

2.6.6.1
2.6.6.2
2.6.6.3
2.6.7

2.6.7.1
2.6.7.2
2.6.7.3
2.6.8
2.6.9

2.6.2

263 267

2.6.9

2.6.9

2.2

2.3

3mm

(m

MLO

ML

CLO

CL
CLO

'MH

'MHO




<1

CH
CHO

2.6.11
26.11.1
2.6.11.2

11



3 (T0101-93)
3.0.1
3.0.1.1
()
3.0.1.2
10

( )

m,0.25--0.50m,0.50--0.75m,0.75--1.0m
3.0.13 3.0.1-1

3.0.14 <«

) “ = 3.0.1-2)

3.0.1-1

0--0.05m,0.05--0.25

(mm)

30--50

30--50

10cm*10cm*10cm

10cm*20cm

50

50

>5 2--10

>2 0.5--7kg

<2 200--500g

100--400g

10cm*10cm*10cm

>5 2kg

5009

5009

10cm*10cm*10cm

500g

5kg

5kg

3kg

3kg

997

4--5kg

2kg

10cm*10cm*10cm

10cm*10cm*10cm

|
|
|
|
|
|
|
|
|
|
|
|
| 500g
|
|
|
|
|
|
|
|
|
|
|
|

1kg




20cm*20cm*20cm

10cm*20cm
20cm*20cm*20cm
10cm*20cm
| | | | 5kg
| | \ | 5kg
| | | | 10cm*10cm*10cm
| | | | 1.5-3kg
| | | | 3kg
10cm*10cm*15cm
10cm*20cm
1kg
) 3.0.1-2
S
)
)
3.0.2
3.0.2.1
3.0.2.2
3.0.2.3 <« 7z
(X3 7mc ?%cc ?%cc £ ()
( )
3.0.24
5
3.0.3
3.0.3.1 “ > 3.0.3) “c i

3.0.3

13




199 - -

| P }
o | (LT

AN —

14



4 (T0102-93)
40.1
4.0.1.1

4.0.1.2

4.0.13

4.0.1.4

( )
4.0.15

4.0.1.6
14
4.0.2
4.0.2.1
ms=m/(1+0.01Lh)

mg--

m--- ( )
M- ( ) %

4.0.2.2
m,,=m/(1+0.010Lh)*0.01

my,--
m---
vh-- %
L-- %
4.0.2.3
m=(1+0.01vL) gV

m--
P /
V--
oh-" %
4.0.24

m,=0.01(L-Ly) PV
my,--

4.0.3
4.03.1

4.0.3.2

4.0.3.3
404

4.05

4.05.1
4.05.2
4.0.5.3

0.1g
4054
4.05.5

4.0.1.3

401 403

1--2

15

1--5

*+1%

4011

40.14

4.0.2.2

0.5mm

4.0.1.1--4.0.

0.01g



4.0.6
4.0.6.1

4.0.6.2
4.0.7

4.0.8

4.0.9

4091
4.09.2
4093

4.0.9.4

4.0.95

4.0.9.6

4.0.9.7
40938

4.09.9
4.0.10

4.0.10
1-
4.0.10.1
4.0.10.2
4.0.10.3
4.0.10.4
4.0.10.5

4.0.10.6
4.0.10.7
4.0.10.8
4.0.10.9

4.0.10.10
4.0.11

0.1/
4.0.5.2

4053 4.055

4053

>0.1¢g/

4.0.9

0.19

<95%

4.0.10

2- 3-

4.09.1

(

2%

>2%

10™cm/s
10%cm/s

4.0.10)

0.1g

16

3d

0.1



200 1 3/4(
1/4 0.5mm 12 105--110
12 10
0.1mm 105--110 gh
4012
40121
Sr=(P-Py)GslePs
Sr=0Gs/e
Sr-- %
P-- /
P /
e--
Gs--
U-- %
40122 4012
4012
(g/?n? L ° /c(ng1 L (g/[é)rr:
3 (%) V(cm |ms(%) ho/ m(g) m, (9) (9) @ & @ 3
) 3 (%) (9) ) )
) (mL)
170 16 81 1378 |5 1446 152 |1598| 40 |1987 %58' 1.96 154 |1.70
199.5 %58' 1.97 150 1.71
199.0 259' 1.96 |15.9 |1.69
170 16 100 170 |5 |178.4 187 1971 |50 |248.0 398' 1.98 /165 1.7
00 - - 1897 50 |239.3 188189 148 |165
165 15 : 3137 (1891148 1.

17




5

51
511
5111

5112
512

5121
5.1.2.2
5.1.23
513

5131

5132
5.1.3.

514
5141

(T0103-93)

105--110

0.01g

15--30

6h 5%

w=(m-mg)/mg*100

m--
Mg--
0.1%

5142

%

5.14

105--110

105--110

(

@6 )

50

65--70
05-1h )

8h

0.01g

()

()

20 20

20 20

©)

@

38.87 40.54

40.65 40.45

)

©)

35.45 36.76

36.16 35.94

(4)=(2)-(3)

3.42 3.78

4.49 451

©)

(5)=(3)-(2)

15.45 16.76

16.16 15.94

(%)

(6)=(4)/(5)

221 22.6

27.8 28.3

|
|
|
)
I
|

(%)

U]

N T —

28.1

5.1.5
( ) 514

515

(%)

(%)

0.3

40

<=1

40

<=2

(TO104-93)

( )

18



52.2.2 0.01g
5223 95%
5.2.2.4

5.2.3

52.3.1 (
5.2.3.2

5--10

5233
5.2.3.4
5235

T0103
5.3 (T0105-93)
53.1

5233

5.3.2

5321 500

53.2.2 1000 0.5
53.23

533

5331 200--300
5.3.3.2 1/3

5333

5334
534
5341
w=m(Gs-1)/Gs(m;-my)-1]*100
w-- %
m_-
m;--
m,--
Gs--
0.1%
5.3.4.2 534

( ) 534

(©) ©)

(T0103-93)
5.4 (T0106-93)
5.4.1

542
5421

200 0--12%(
30
90%

5.4.2.2
5.4.2.3 200 0.1g
5.4.2.4 HKC-200
5.4.25 (

1min

20--30 )

5234

54.2

0.01g

©)

HKC-200

14.3%)

19

100

0--31%

1--2min
0.59
(%) (%)
40
0--27% HKC-30
15 0--



5.4.2.6
5.4.2.7 ( )
5.4.3
80.66% 3 1 300L
HKC-200 200 12% 8 6 8 )
HKC-30 30 31% 16 2
5.4.4
5.4.4.1

5.4.4.2

5443
HKC-200 200 HKC-30 30
1--2
5444

5445
HKC-200 6 HKC-30 2
5.4.4.6

5.4.4.7 ( )
( 45 ) 20
100
0.5--1min

5.4.4.8

5.4.4.9

5.4.4.10 HKC-200 100 HKC-30
15 5.4.4 ( )
12% 27.3%
545
545
( ) 545

©) ©) (%)

5.4.4 HKC-200 HKC-30 ( )

20



6.1
6.1.1

6.1.2

6.1.2.1
6.1.2.2
6.1.2.3
6.1.3

6.1.3.1
6.1.3.2

6.1.3.3
6.1.4
6.1.4.1

(T0107-93)

6--8cm, 2--3cm

0.1g

P=m-m,/\V

my--
m,--
V --

Pa--
w-_
6.1.4.2

6.1.5

6.1.6
6.1.6.1
6.1.6.2
6.1.6.3
6.1.6.4
6.2
6.2.1

6.2.2
6.2.2.1

6.2.2

%
6.1.4
6.1.4

%

(%)

e/ )

P« /
(T0108-93)

[l

)
0]
®)
4)
®)
(6)
V)
®)

1.5--2mm

my 0.1g

(3)-(
(#)(1)

(5)/1+0.01*(6)

21

100

178.6
1.79
13.5
1.58

1 2
2 3 4
100 100 100
181.4 193.6 194.8
181 1.94 1.95
14.2 18.2 194
1.58 1.64 1.63
1.58 1.64
0.03 /
6.2.2

3
5 6
100 100
205.8 207.2
2.06 2.07
205 21.2
171 171
1.71



(1) (15) (14)

2 (1) (11)
(3) 9) (8)

4) (10) 0]

50mm*50mm  70mm*70mm 100mm*100mm

(5) : 4 (12)

(6)
DC24V/(36A.h)
50--70r/min
35
6.2.2.2 1000 1 ( 10

6.2.2.3
6.2.3
6.2.3.1

6.2.3.2

6.2.3.3

6.2.3.4
6.2.4

P=m-m,/\V
P«—=P/1+0.01w
P-- /
m;--
m,--
V--
Pa-- /
w-- %
(T0107-93)

22

)

1000

0.19(



7.1 (T0112-93)

7.1.1

7.1.1.1 105--110 4
7.1.1.2

7.1.13 5

7.1.2

7121 100(  50)

7122 200 0.001g

7.1.23 +1

7.1.24

7.1.25

7.1.26 0--50 05

7127 ( ) 2 5
7.13

7.13.1 0.001g

7.1.3.2

0.001g
7133 5
0.002g

7.14
7.14.1 15 100 ( 50 12 )
7.14.2

30min 1h

7.1.4.3 ( )

0.5
7.14.4

7.1.43
7.1.45 7143 7144

7.1.4.6 ( )
100kPa 1--2h( ) 7143 7.144
7147 0.001g
7.15
7.15.1
Gs=my/my+ms-m,*G,
:Gs--
ms--
m;--
m,--
Gyt ( ) 0.001
7.15.2
Gs=my¢m “ 1+mg-m < ,*Gy,
m*“ ;-
m* ,--
G-t ( ) 0.001
7.153 7.15
7.16
0.02
7.1.7
7171
7.1.7.2 Gs

23



() () ()
B () () () B
ol ele e [ e [ 0o [ @ C)
) I @O | | GOV ICIORC) |
1 152 | 0.999 34688 49.831 | 14.945 | 134714 | 144.225 5.434 2.746
2.75
2 152 0999 %% 49207 | 14940 | 134696 | 144191 5.445 2.741
N [
7.2 (T0113-93)
7.2.1
5 20 10%
7.2.2
7221 ( ) 2000 1/1000 5
0-15 10--20 (722
72,22 5 20
7.2.3
7231 500--1000
7.2.3.2
7233
7.2.3.4
7235 05
7.2.4
7241
Gs=my/mg-(Mm2 < -m1 7 )*G,,
m1---
m2 < --
0.001
7.2.4.2 7.2.4
( )
Lol L o o
o e e e e e ()
| | | | | L@ BQIEKHE)
| 155 | 0999 | 9895 | 7178 | 100 | 6178 | 2659 2 66
| 155 | 0999 | 9895 | 7177 | 100 6177 | 2.658 '
| 150 | 0999 | 9895 | 7185 | 100 | 6185 | 2.664 267
| 150 | 0999 | 9895 | 7185 | 100 . 6187 | 2.665 '
7243
GS:]./[P1/651+P2/652]
:Gsl" 5
G- 5
P 5 %
Pr- 5 %
0.01

24




725 7.16.
73 (T0114-93)
73.1

7.3.2
7321 7.3.2

7.3.2.2 10 1
7.32.3 2000

7324 5 20

7.3.3

7331 1000--7000

7.33.2 ( )
7.33.3

7334
7.3.35 0.5
7.3.3.6
7.3.3.7 1
734
734.1
Gs:ms/(ml'mo)'(m'ms)*th
m--
ml'-
mg--

0.01
7.3.4.2 (T0113-93)

7.3.4.3 7.3.4
( ) 734

(OO ®3) (4) ®) (6)

15.5 10.999 | 1979.0 2000 | 2724 1040.0

1
155 (0.999 | 1979.0 | 2010 |272.4 | 1049.4
, 155 (0999 10785 | 2000 |2724 | 1039.0
155 (0.999 | 1970.0 | 2000 |272.4 | 1045.0
(T0112-93)
735 7.1.6

25

()
(6)-(5)
767.6
777.0
766.6
772.0

(®)
#)-3)
21.0
31.0
215
305

10%

©)
(3)*(2/(7)-(8)
2.647
2.649
2.652
2.651

2.65

2.65



8

8.1 (T0115-93)

8.1.1

8.1.2
8.1.2.1
5 0.25
8.1.2.2
1000
200
8.1.2.3
8.1.24
8.1.3

8.13.1 2
8.1.3.2

8.13.3

8.1.3.4

8.135

8.1.4

8.1.4.1

@)

@ 2
(3)2

4)

(5)
6) 2

8.1.4.2
)
@
®)

@ 2

(5) 0.074mm
(6) 2mm
7 0.074
8.1.5
8.15.1
X=A/B*100

X--
A--
B--
8.1.5.2 2
X=a/b*p*100

8.1.5.4
Cu=d60/d10
Cu--

0.074mm
( ) 60 40
0.074
5000 5

0.2

=+100--300
10 300--900
20 1000--2000
40 2000--4000
40 4000

10--15min

10%

0.074

2--0.074mm
10%

%

(%)

20 10

2
100--800

1%

0.074mm

26

2 2
2
1%
10%
0.074mm
0.074mm
)



d60--
d10--
8.1.55
8.1.6
8.1.6.1
8.1.6.2
8.1.6.3

(mm)

60
40
20
10

8.2
8.2.1

8.2.2
8.2.2.1
@)
@
8.2.2.2
8.2.2.3

8.2.24

100
8.2.25
8.2.2.6
8.2.2.7
8.2.2.8
8.2.2.9
8.2.3

25%

8.24

m=ms(1+0.01w)

m__
ms--
-
8.25

8.2.5.1
8.25.2

60% min
10%
8.1.5
Cu
( ) 8.1.5
=3000 2 =810
=81
=27%
(mm) 0
%
@ g ) @ g %) ()
2 2190 810 100 27.0
1 2410 590 72.8 19.7
0 3000 100 0.5 2740 260 32.1 8.7
350 2650 88.3 0.25 2920 80 9.9 2.7
920 2080 69.3 0.074 2980 20 25 0.7
1600 1400 46.7
2190 810 27.0
(T0116-93)
0.074mm
20 1000 -5--50 0.5
20 0.995--1.020 0.0002
1000 60 350+10 0--1000
2 0.5 0.25
0.074
100 0.1
0.01
0--50 0.5
50 3
(500 ) (400 )
(NaOH) (Na2C204) (NaPO3)6 (NaP4P207.10H20)
10% 5% 10% 5% 6%
2 ( 50 )
30 0.01
%
20 20 8.2.5-1

27



‘ ( ) ‘ mt ‘ mt ( mt mt“
110.0 -2.0 -0.0012 20.0 +0.0 +0.0000
105 -1.9 -0.0012 20.5 +0.1 +0.0001
11.0 -1.9 -0.0012 21.0 +0.3 +0.0002
115 -18 -0.0012 215 +0.5 +0.0003
12,0 -1.8 -0.0011 22.0 +0.6 +0.0004
125 1.7 -0.0011 22,5 +0.8 +0.0005
13.0 -16 -0.0010 23.0 +0.9 +0.0006
135 -15 -0.0010 235 +1.1 +0.0007
14.0 -1.4 -0.0009 24.0 +1.3 +0.0008
145 -13 -0.0009 245 +15 +0.0009
15.0 -12 -0.0008 25.0 +1.7 +0.0010
155 -11 -0.0008 25.5 +1.9 +0.0011
16.0 -1.0 -0.0007 26.0 +2.1 +0.0013
16.5 0.9 -0.0006 26.5 422 +0.0014
17.0 0.8 -0.0006 27.0 +2.5 +0.0015
175 0.7 -0.0005 275 +2.6 +0.0016
18.0 05 -0.0004 28.0 +2.9 +0.0018
185 0.4 -0.0003 285 +3.1 +0.0019
19.0 03 -0.0002 29.0 +3.3 +0.0021
195 0.1 -0.0001 295 +3.5 +0.0022
20.0 0.0 -0.0000 30.0 +3.7 +0.0023
8.2.5.3 2.65 2.65
8.2.5-2
8.2.5-2
|
| () | (CG~)
2.50 11.038 1.666
2.52 11.032 11.658
2.54 11.027 1.649
2.56 1.022 1.641
2.58 11.017 1.632
2.60 11.012 1.625
2.62 11.007 1617
2.64 11.002 1.609
2.66 0.998 1.603
2.68 0.993 11.595
2.70 0.989 1.588
2.72 0.985 1.581
2.74 0.981 11575
2.76 0.977 1.568
2.78 0.973 1.562
2.80 0.969 1.556
2.82 0.965 1.549
2.84 0.961 1.543
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2.86
2.88

8.254

8.2.6

8.2.6.1

1000
8.2.6.2
8.2.6.3

8.2.6.4

2h

4-6

8.2.7 (
8.27.1

8.2.7.2
8.2.7.3

8.2.8
8.28.1
8.2.8.2

8.2.8.3
1min

8.2.8.4
8.2.8.5

1000 )
8.2.8.6
8.2.8.7
0--20s

8.2.8.8
8.2.8.9

8.2.9
8.29.1

)

(pH<6.5) 30

(pH=6.5--7.5),30

1000

(pH>7.5),30

10

pH 8

55.8777?

10%

10

0.958
0.954

1000

25% 30

pH

0.5mol/L 20mL

0.25mol/L 18

0.083mol/L 15

00
1000
)

25

5%
200
40min(

1min
1min

0
1000

1min

05 1 5 15 30 60 120 240

0.5
(20 ) 0.5min
1

0.001 1 0.0001 0.1

X=100/ms*CG(Rm+mt-GD)

X--
ms-- (
CG--

PS--
PW20--20

)

%

8.2.8-2
CG=pPS/(pS-PW20)*(2.65-pW20)/2.65

/

/

29

( 2
0.083mol/L

1.538
1.532

20

20

20gNaOH( )
33.5gNa2C204( )

51 (NaPO3)6( )

30 0.125mol/L 14
)100
15

5--10min 30

3--5 10% 5%

0.074mm 1000
0.074mm

0.074mm

25% 0.5mL
30

1440min

(0.5  1min )

1min
0.1

0.001, 0.0001



mt-- 8.2.8-1
GD--
Rm--
@
X=100V/ms*CG “ [(Rm “ -1)+mt “ -CD “ ]opW20
V-- (=1000 )
CG~-- 8.2.5-2
mt < -- 8.2.8-1
CD--
Rm* --
8.2.9.2 8.2.9-1
d--
n-- 10°%Pa.s
PW4-- / ;
Gs--
GWT-- T
(981) /
(8.2.9-3)
8.2.9-2
8.2.9.3 ( ) ( 8.29-3)
8.294 8.2.9
( ) 829
2.74
0.981
4
T Rm=R+mt |RH=Rm+C d(
() ( ) R (mt) cD +CD G LC ) )
(%)
1 175 317 -0.7 -1.3 29.7 29.14 12.2 0.048 97.1
5 175 30.6 -0.7 -1.3 28.6 28.06 125 0.022 95.3
30 18.0 25.7 -0.5 -1.3 23.9 23.46 13.2 0.009 79.7
120 18.5 19.8 -0.4 -1.3 18.1 18.1 14.2 0.0047 59.2
1440 18.1 6.6 -0.5 -1.3 4.8 4.8 16.8 0.015 15.7
8.3 (T0117-93)
8.3.1
0.074mm
8.3.2
8.3.2.1 0.001g
8.3.2.2 25 ( 8.3.2)
8.3.2 ( )
8.3.2.3
8.3.2.4 1000 50 ( )
8.3.3
8.3.3.1 10--15 20 8281 8285
8.3.3.2 +0.5
(8.3.3) 0.05mm 0.01lmm 0.005mm 0.002mm

t=L/2/9%10"*g*r**(ps-pWT)/N

30



8.3.3.3 50

8.3.3.9
001g
8.34
8.3.4.1

10"°kPa.s
10

)

30

10

25

X=A*1000/25*B*100(%)

X=C/B*100(%),C=A*1000/25

X--
A--25
B--
C--1000
8.3.4.2
(
>0.074mm
<0.074mm
9.89
)
(1) 2
<0.05
<0.01
<0.005
<0.001

8.3.4
) 834
(%)
(%)

10

©)

30.0324
20.3034
22.0665
23.2475

(

0.001g
2
1min
(2)180
(2)180
(1)
105--110
2.65
) SR
5)
4
@) (3)-(4)
29.7874 0.2450
20.1686 0.1348
21.9538 0.1127
23.1642 0.0833

31

1000
()

(6)
9.8/100%(7)

9.80
5.39
451
3.33

™
100
55
46
34

(25

(%)



9

9.1
9.11
9.111
9112
9.1.2

9.1.2.1 LP-100

9.1.2.2
9.1.2.3
9.1.2.4

9.13
9.13.1

0.5mm
)
0( 0.2)
9.1.3.2

9.1.33
9.1.34

9.1.35

3

9.1.3.6
wW; Wy
9.1.3.7
9.1.3.8

9.1.4
9141

L hp

9.1.4.2
9.143
1.4-1

(T0118-93)

0.5mm

100

200
( 0.5mm)

0.01g

200
)

0.5mm

0.1%)

9.132 9.136

hy h--w

h--w

9.14.2
h

p
( MO0101-93  T0115-93)

hp

9.14

hl

) h2

1/2(h1+h2)

(%)

0.5mm

(b )

ab ac

h=20

4.68
4.73
4.71

5%

30
( )
0.5mm
(a
18h a 2
c
( )
1 ) 9.1.33 09.1.34 h, hy h
h
( 0.01g)
(
h a b c h--co
a b ¢ (a hp-w
2%
2%
w WL
hy ( 9.1.4-2) hp 9.
w, w-hy
w--hy
hp
2 3
9.81 19.88 w, 1
9.79 19.12 27.2 14.0
9.80 20 26.2 15.0
w, =41.2

32



9.15
9.151
9.15.2
9.2
9.21

9.2.2
9221
9.2.2.2
9.2.2.3
9.2.3
9.23.1

9.2.3.2

9.2.33

9.234
9.24
9.24.1

(%)

W W,
(T0119-93)

200 *300

0.01g

9.13.1

3--5

wWp=(my/m,-1)*100

m;--
my--

9.24.2
9.2.5

9.2.6
9.2.6.1
9.2.6.2
9.3
9.3.1

9.3.2

9321
9.3.2.2
9.3.2.3
9.3.24
9.3.25
9.3.2.6
9.3.3

9.3.3.1
9.3.3.2
9.3.3.3
9.3.34
9.3.35

wWy--

0.1%

5%

1/50

%

(T0103-92)

(T0120-93)

( ) 4.5--5cm
0.01g

20
25.86
24.51

1.35
451
29.9

50

2--3

0.01g

27.49
25.52
1.97
5.52
35.7

0.5mm

(%)

33

30.62
27.53
3.09
7.53
41.04

<=2%

0.5mm

<=1%



9.3.3.6

9.3.4
9.3.4.1 105--110
wW=w-(Vi-V,)/mg*p*100
0, %
w-- %
Vi-- (
Vz-'
Mmg--
Pw—- /
0.1%
9.3.4.2
IS=00 -5
Is--
- %
0.1%
9.343 9.3.4
9.35
0.1% 2% 1%
9.3.4
| | [ | I
| I A
| w. | ) | 49 | 60
Lo+ my | | . 164 | 1172 | 1186 | 1194
s m, | ] . 980 | 988 | 975 | 983
| my | | e | e . 62 | 625
| w | % (My-M;)/(M;-M3)*100 . 511 | 514 | 594 | 589
| Vi | . 382 | 385 | 376 | 380
| Vo | | . 284 | 26 | 202 | 206
‘ ws | %) ‘ o (VeVmmyrpr00 100 |98 | 104 [ 103
| 9.9 | 10.4
| Is | | WL-ws | 30.1 | 496
9.36
9.36.1
9.3.6.2 W, Is

34




10 (T0121-93)

10.0.1

10.0.2
10.0.2.1
10
10.0.2.2
10.0.2.3
10.0.2.4
10.0.3

4.06 4.0.7

10.0.4
10.0.4.1
10.0.4.2

|

10.0.4.3

10.0.4.4

10.0.5

10.0.5.1

w=(my/m¢-1)*100

10--

My--

ms--

10.0.5.2

eSL:Rt'RolHo*loo
€~

HO-_

RO--

Re-

10.0.5.3

eS:VO'Vl/VO*].OO
€5--

Vo-- (

V-

10.0.5.4

10.0.5.5

d.h

10.0.2
4
61.8mm 20

0.05mm*12.5mm

4.0.8
0.1g

30
0.1g
4
105--110
(T0109-93)

%

%

%

s

10.0.5
10.0.5

(%)

(1/100) ( \

14.15 0

15.8

16.0

16.8

19.3

50.0

63.0

0.19 0.95

0.50 2.50

0.63 3.15

10

70

0.01mm

6--24h

(

120.12
118.3
113.7

112.2

35

)

10.0.5

(

31.12
29.3
24.7

23.2

)

0.1g

35.

32.

27.

26.

1--4h

=171cm

50%

20

=35%
=1.48

=89



16.0 945 0.95 1.75 109.3 223 Zg'
2.
178 976 0.98 4.90 108.7 1037 :
20.
18.0 110.8 111 5.55 107.1 18.1 5
1.
18.8 116.6 117 5.85 106.6 17.4 :
18,
198 124.8 1.25 6.25 105.3 163 .
17,
218 1298 1.30 6.50 104.6 156 ;
23.8 134.0 1.34 6.70 104.0 15.0 196'
16.
2538 139.0 1.39 6.95 103.4 14.4 :
15,
278 142.0 1.42 7.10 4027 141 :
15,
29.8 146.0 1.46 7.30 102.4 13.4 o
13,
318 155.0 1.55 7.75 101.1 121 :
12.
28 163.0 1,63 8.15 99.7 107 G
10.
48 168.0 1.68 8.40 97.9 8.9 0
6.8 168.1 1.68 8.40 957 6.7 75
8.8 168.1 1.68 8.40 94.8 5.8 6.5
%) 246 0.37 %) 123
10.0.5
10.0.6
10.0.6.1
10.0.6.2 e.(%)
10.0.6.3 e, (%)
10.0.6.4 )

36




11

1 (T0122-93)

11.0.1

11.0.1.1

11.0.1.2 (T0103-93)
LP-100

11.0.2

11.0.2.1 LP-100

11.0.2.2 5--6 3--4

11.0.2.3

11.0.3

11.0.3.1 (T0103-93)

11.0.3.2 1 ( ) 5 3

11.0.3.3 LP-100 (T0118-93) 9.1.33
9.1.3.8
11.0.34 3-5 ( 1 )
11.0.4
11.04.1 Wy Ip w
(O
WE=w-Ww/lp
11.04.2 h
lgh=a+31gw
lgh=cx+31g(w-Ipwc)
W, w, hy Ip h (11.0.4-3)

W

11.0.4.3
hp 11.04 W,

11.04.4 11.0.4
11.0.5
11.05.1
11.05.2 W,

11.0.4

h(mm)

1 2 3 4 5 h(mm) hy(mm) ¢

12.5 12.3 12.5 12.5 12.7 125 3 0.36 11.0.4

12

12 (T1023-93)
12.0.1

12.0.1.1

12.0.1.2

12.0.1.3 5 2--5 15%
12.0.2
12.0.2.1 500 1000 6

37



12.0.2.2 1.2cm ( 12.02-1)
12.0.2.3 1.5cm ( 12.02-1)
12.0.2.4 ( 12.02-1)

12.0.2.5 12.02.6 12.0.2.8
12.0.2.6

1) 250 5 12.7cm

(2) 1000 10 12.7

12.0.2.7 (12022

12.0.2.8 . 125 150 50 (12023

12.0.2.9 1
12.0.3
12.031

(1) 1.5kg ( )
) 1000

3) 700 1
1--2
©)]

®)

(6)
12.0.3.2
1) 4 12.0.3.1
(2) 600--800 ( 1/3) 1000
150--200 /min 30--60 /min
( 5--10min)

®)
4) 12.0.3.8
(5) 1
12.0.4
12.04.1
P dmin=M/V max
P dmax=M/Vmin
Pdmin~ /
Parar- /
m--
Vmax—-
Vmin“
001 /
12.0.4.2
Emax=PwGS/ Pamin-1
emin=PwGS/ Pdmax-1
Emax—-
€min="

Gs--

0.01

38



12.0.4.3
Dr=(emax-€0)/(Emax-€min)

D=(Pd-Pdmin)* P dmax! (P dmax- P dmin) P

Dy--
€o--
Pd- /
0.01
12.0.4.4 12.0.4
12.0.5
0.03
12.0.6
12.0.6.1
12.0.6.2 D,
12.0.4
+ (9) (1) 2162 2165
(9) 2 1750
C)] 3) (1)-(2) 400 420 412 415
( (4) 335 350 250
(1 (5) (3)/(4) 1.20 1.20 1.65 1.66
( 1/ (6) 1.20 1.66
Gs (7 2.65
(e) (8) 1.21 0.59
(/ 9) 1.30
& (10) 1.04
Dr (11) 0.27

39




13

13
13.1 (T0124-93)
13.1.1

13.1.1.1

13.1.1.2

13.1.2

13.1.2.1 50 1

13.1.1.2 10 20 31.8mm

13.1.1.3 50--60 4--5

13.1.1.4 ( 13.1.2)

13.1.15 200 0.01g

13.1.1.6 0.5mm

13.1.3

5%

13.14

13.1.4.1 0.5mm 50 105-
-110

13.1.4.2 10 13.1.4

13.1.4.3

13.14.4 13.14.3 0.1g
13.1.45 30 5 5%

13.1.4.6 10 ( 10 )
50
13.1.4.7 5h 0.1mL
0.2mL

13.1.5
13.15.1
Fs=(V-V)/Vg*100

Fs-- % 1%
V--
VO"
13.1.5.2 13.1.5

13.1.5

0.5mm
50
10

(h) ( ) (%)
() 2 4 6 8 10 Fs
9.64 1 16.2 165 16.7 16.8 16.8 68
9.65 2 16.4 16.6 16.8 16.9 16.9 69
2 9.70 3 18.0 183 185 187 18.7 87 88

13.1.6

Fs>=60% 8%

40



Fs<60% 5%

13.1.7

13.1.7.1

13.1.7.2 Fs (%)
132 (T0125-93)
1321

13.2.1.1

13.2.1.2

13.2.2

13.2.21 13.2.2
13.2.2.2

13.2.2.3 10

13.2.2.4 200 0.01g

13225 (
13.2.3
13.2.3.1

1
13.2.3.2

13.2.33 1
13.2.34

13.2.3.5

13.2.3.6 5 10

13.2.3.7
13.2.3.8

13.2.4
13.24.1
Vy=AH/20*100
AH=R-Rg
Vy-- t %
AH-- t
Ri-- t
Rg“
13.2.4.2
w=(m-mg)/mg*100
e=Ps/Pao-1
m--
ms--
Ps—- /
Pao-- /
13.2.4.3

wy=(Mmy-m;)/mg*100
eH=Py/Pa-1
My
PdH-- /
13.2.4.4
13.2.45 13.2.4

V=53

58 35

0.01mm

0.01g

20 30min 1 2 3 24h

Wy e

13.2.4

41

15

24h

0.01g
0.01g

10



| + | @) | ) | | 161.2
| | ) | ®) | | 56.3
| | @ | (@) | 1)-(3) | 125.1
| | © | (5) | -0 | 1049
| | © | ®) | | 20.2
| | (%) | @ | (6)/(5)*100 | 19.3
| | ( | (8) | Va(1+V4) | 60
| (! | ) | @)/(8) | 2.09
| L | (10) | (5)/(8) | 1.75
| | | (11) | | 2.72
| | R( ) VH (Rt-R0)/20*100 (%)
L@ [ [min) [ @ | () | (min)

15 |8 [ 30 | | | 0 |

| 9 | | .30 | 0.10 | 05

| L 10 | | | .30 | 0.40 | 2.0

| L 12 | | | .30 | 0.50 | 25

| 18 | | | L300 | 1.00 | 5.0

16 | 8 | | 23 | 30 | 1.60 | 8.0

18 | 15 | 3 | 6 | 3 | 1.90 | 9.5

19 8 | 3 | 23 | 3 | 22 | 11.0

| L 18 4 9 | 30 | 2.4 | 12.0

20 | 8 | 4 | 23 | 30 | 25 | 12,5

L2 | | 6 | 23 | 30 | 26 | 13.0

L 23 | | 7 | 23 | 30 | 26 | 13.0

13.25

13.25.1

13.25.2 Vi (%)

133 (T0126-93)

133.1

133.1.1

133.1.2

1332

13321 10 (To
125-93)

133.2.2

1333

13331 1kPa 3
4

13.3.3.2 0.01mm

42



13.3.3.3 2h
13.3.34
13.3.35

13.34

13.3.4.1

Vyp=(Rt+Rp-Ro)/Ht*100
Vyp--P(kPa)

Ht--

Rt--

Rp--P

Ro--

13.3.4.2

13.35

13.35.1

13.35.2

%

(T0125-93)

Vip

13.4 (T0127-93)

13.4.1
13411

13.4.1.2
13.4.2

(T0141-93)
13.4.3
13431 (T0136-93)

13.4.3.2

13433 (

13.43.4

13.4.35
13.4.3.6
13.4.4
13.4.4.1
Pe=W*m/A
Pe-- kPa

2h

(%)

34

43

0.01mm

1kPa



A--
M-
13.4.4.2 13.4.4
1345
13451
13452 Pe  (kPa)
13.4.4
(d h min) | ( S0N) ‘ (mm)
| N | N) | (kPa)
RN | | | | |
| 10 o482 | 18 L7 | 0.01 | =30
| 16 . 460 | 40 TR 0.03 | =172
| 26 . 405 | 95 - 0.04 | =175.8
| 50 . 3.7 | 147 | 57 | 0.06 | =159
. 10 14 | 381 | 169 | 6 | 0.07 | =57
| 58 o311 | 189 | 76 | 0.08 | =12.8%
L1 44 . 302 | 198 | 80 | 0.09 | =16.2%
. 12 36 o207 | 203 | 8 | 0.09 | =17/
VR . 295 | 205 | 8 | 0.09 X7
L 16 42 205 | 205 | 82 | 0.09 | =0.6

44




14

14 (T0128-93)
14.0.1

14.0.1.1

14.0.1.2

14.0.1.3

14.0.2
14.0.2.1
4.0--4.5cm 3 10 10

14.0.2.2 ( 0.0lg)
14.03
14.03.1

1- 2- 3- 4- 5- 6- 7-
(1) 10- 11- 12- 13- 14-
2.0--25kg )

14.0.3.3
14.0.3.4
14.0.35 0.5--1.0cm
14.0.3.6
14.0.3.7 30.60min
14.0.3.8
14.0.4
14.04.1 h t
14.0.4-1
h-t

n,m

14.0.4.2 h 14.0.4-2

14.0.4.3 1404
14.0.4-1

14.0.4-2
14.04

(cm) 20 40 60 80
(%) 34.3 332 30.7 27.0

1405
14.0.5.1
14.0.5.2 he( )

45

14.0.2
h
100 120 140
26.2 24.8 23.2

160
21.0



15

15.1
15.11
15.1.11
15.1.1.2

15.1.2
15.1.2.1

15.1.2.2
15.1.3
15.1.31

15.1.34

15.1.35

15.1.3.6
15.1.3.7

15.1.3.8

15.1.39
15.1.3.10
15.1.3.11
15.1.3.12
15.1.4
15.1.4.1

Pd=ms/Ah
e=Gs/pd-1

15

(T0129-93)

3--4

(70 )
0.6cm

15.1.2

15.1.2

3--4
0.1g 1--2

1/3

ms=m/1+cwh,

m--
wh--
pd--
A--

h--

e--

Gs--
15.1.4.2

KT=QL/AHt
KT--

Q- ot

15.1.4.3

%

T /

( L=100
H=(H1+H2)/2

K20=KT*NT/n20

K20--

NT--T
N20--20

NT/N20--

(20 ) /
kPa,s;
kPa,s;
15.1.4-1

n NT/N20 15.1.4-1

46

)

40

H/L

10

15.1.3.8

15.1.3.11



nT/

‘ ‘ N(10%)kPa.s ‘ NT/N20 ‘ ‘ N(10%kPa.s N20
. 50 | 1516 . 1501 | 155 | 1130 11119
. 55 | 1.493 1478 | 160 | 1.115 11.104
.60 | 1.470 1455 | 165 | 1.101 11.090
.65 | 1.449 1435 | 170 | 1.088 11.077
70 | 1.428 1414 | 175 | 1.074 11.066
.75 | 1.407 1393 | 180 | 1.061 11.050
. 80 | 1.387 . 1313 | 185 | 1.048 11.038
. 85 | 1.367 . 133 | 190 | 1.035 11.025
.90 | 1.347 . 133 | 195 | 1.022 11.012
.95 | 1.328 . 1315 | 200 | 1.010 11.000
. 100 | 1.310 . 1297 | 205 | 0.998 10.988
. 105 | 1.292 S 1279 | 210 | 0.986 10.976
. 110 | 1.274 1260 | 215 | 0.974 10.964
. 115 | 1.256 1243 | 225 | 0.963 10.953
. 120 | 1.239 1227 | 230 | 0.952 10.943
. 125 | 1.223 L1211 | 240 | 0.941 10.932
. 130 | 1.190 1194 | 250 | 0.919 10.910
. 135 | 1175 . 1178 | 260 | 0.899 10.890
L1140 1.160 1163 | 270 | 0.879 10.870
. 145 | 1.144 1148 | 280 | 0.859 10.850
. 150 | 1.144 . 1133 | 280 | 0.841 10.833
15.1.4.4 e--k
15.1.45 15.1.4-2
h=30cm
L=10cm ms=3200g
A=T85 Gs=2.65
e=0.95
( 20
) nT/
® 1 2 3 | H | H2 H ‘35“ e n20 w
s)
Lorel L [ | | ) Q| KT [T | |
me e e e e o 6 [ © [ a @@ @@ @ @ |
-
@@ @6 (e e | G ¢ =aan
| 1 518 (450 430 (410 20 | 20 | 20 | 020 110 | 0.0135 135 | 1176 | 0.0159 |
| 2 520 (450430 (410 20 | 20 | 20 | 020 | 111 | 00135 135 1176 | 0.0159 |
| 3 |200 (438394 350 | 44 | 44 | 44 | 044 | 92 | 00135 135 | 1.176 | 0.0159 |
| 4 | 20 436392348 | 44 | 44 | 44 | 044 | 93 00135 135 | 1176 | 0.0159 |
| 5 125 (443 365|287 78 | 78 | 7.8 | 078 105 00137 135 | 1176 | 0.0161 |
| 6 | 125 (443 365|287 78 | 78 | 78 | 078 105 00137 |135| 1176 | 0.0161 @ 0.016
1515
3--4 e
2*10"
15.1.6
15.1.6.1

47




15.1.6.2
15.2
15.2.1

3--4
15.2.2

152.2.1
15.2.2.2

15.2.2.3

10-
15.2.2.4
15.2.3
15231

15.2.3.2
15.2.33
15.2.34

15.2.35
15.2.3.6

15.2.3.7
15.2.3.8

15.2.3.9
15.2.3.10

15.2.4

15.2.4.1

KT=Q/AJt
KT--

Q- t

A__

J--

KZO( / )
(T0130-93)

15.2.2-1

15.2.2-3

(5000 )3 4- 5- 6- ’
( ) 11 - ( 1000--5000

200

15.2.3.8

15.2.4-2

J=[(h1+h2)/2+H]hi  ( )
J=[1/2(h1+h2)+13.6N]/hi ( )

hi h2 N
H--

15.2.4.2 K20
15.2.4.3

15.2.2-2

e-K
15.2.4

Gs=2.71
A=32.2cm? =0.85

hi=4cm

H(

2 s 6Ny

48

11-

0.1

(T0129-93)

nNT/
kt M2

15.2.2

15.2.3.8

20

K2 |K20



t1 t2
(d h |d h
min)  min)

) ) ®) (4)

(s) |(cm)

-

25832584
0 0 600 240
258412585
0 5 900 232
25942591
0 6 960 225

(cm)

®)

232
225

219

(cm)

(6)

200
200

200

(cm®)

()

18
26

28

49

() ©)
[(h1+h2)
12+(6)]/

hi

109.0 110
1071 115
1055 115

(10°cm/

s)

(10) (11)
8.55 1.261
8.38 1.243
8.59 1.243

(10%cm/ |(10"%cm/

s) S)

12) (13)
SO)*“ >(12)/n
10.78

1042

1068 10.63



16
16.0.1

16.0.2
16.0.2.1

16.0.2.2
16.0.2.3
16.0.2.4
16.0.2.5
16.0.2.6

16.0.2.7

16.0.3
16.0.3.1

5kg

16.0.3.2
16.0.3.3

16.0.4
16.0.4.1

16.0.4.2

1/5)

16.0.4.3

16

(T0131-93)
25
( 16.0.2-1) 16.0.2-2)
16.0.2
(c
(cm) | (ko) | m) © | em (cm
1.1 5 25 30 10 12.7 997 27
1.2 5 25 30 15.2 12 2177 59
1.1 5 45 45 10 12.7 997 27
0.01g
10 5
38 25 19 5 1
400 *600 70
16.0.3
(cm) (mm)
10 5
a 10 25
15.2 38
10 25
b
15.2 38
c 10 25
16.0.3
( ) 50
( ) 3
( ) 5 ( 2-3%
( ) 38
16.0.1-1 (
16.0.1-2 ( )
3--5
1/3) 400--500 (
900 (
1700
5
1

50

38
16.0.2
(kJ/

m?) (mm)
598.2 25
598.2 38

2687.0 25
(kg)
3
45
6.5
5 3
5 6
5 3
)
2%--3%
800--900  (
)-1100  ( )



( )

16.0.4

0.1%
515

16.0.4

C )

()

<5

15--20

50

|
|
| 5
| 19

250

| 38

500

AN

16.0.4.5 (

%--3%

m,,=m;/(1+0.01¢01)*0.01(w-wy)
my--

m;-- (e8]

W1~ %

w-- %

16.0.5

16.0.5.1

Pd=p/(1+0.001w)
Pd-- /

P-- /

w-- %

16.0.5.2

16.0.5.3

Pd=(1-0.01Va)/(1/Gs+w/100)
Pd-- /

Va-- %

Gs--

wW-- %

16.0.5.4 38

P “dm=1/[(1-0.01p)/@dm+0.01p/Gs 7]

P “dm--
Pdm-- 38
P-- 38
Gs* -- 38

0~ =w0(1-0.01P)+0.01pw2

/

16.0.3

38

%
0.01.

16.0.3

( 16.0.5)

38

( 16.0.5)

38
30% )

45

2

4

5

)

2907.6

2981.8

3130.9

()

1103

1103

1103

1103

1103

()

1804.6

1878.8

2027.9

2112.8

2088.1

(glem?)

1.81

1.88

2.03

2.12

2.09

(g/cm?®)

1.67

1.71

1.8

1.83

1.76

| |
| |
| |
| |
| |
| |
| |
| |
| |
| |

7
|
|
32158 | 31911
|
|
|
|
|

51




1007 --

w0--

w2--
16.0.5.5
16.0.6
16.0.6.1
16.0.6.2
16.0.6.3

38

38

©)
©)
©)
()
©)
(%)
(%)

%

16.0.5

w0(%)
edm( /

33.45 |33.27 | 35.60 |35.44 |32.88 | 33.13 |33.13 | 34.09

32.45 32.26 | 34.16 |34.02 |31.40 | 31.64 31.36 | 32.15
20 | 20 20 20 | 20 20 20 20
1.0 | 1.01 | 1.44 | 1.42 | 148 | 149 177 194
12.45 [12.26 | 14.16 |14.02 |11.40 | 11.64 |11.36 | 12.15
80 | 82 | 103 | 101 | 130 | 128 | 156  16.0

8.1 10.2 13.0 15.8

=15.8% =1.83g/cm®

%

52

36.96 |38.31
24.28 35.36
20 20
2.68 | 2.95
14.28 |15.36
18.8 | 19.5
19.0



17

17.1
17.11
17.1.11
17.1.1.2
17.1.1.3
17.1.2
17.1.21

0--2
17.1.2.2
17.1.2.3
17.1.2.4
17.1.25

17.1.2

m)

60
40
20
10

17.1.2.6

17.1.2.7

17.1.2.8
17.1.29
17.1.2.10
17.1.3
17.1.31
17.1.3.2
17.1.33

Mr--

Mr=D max/dmax
Dmax"

dmax'

(T0132-93)

0.074
60

( 1712 )

17.1.2
( 17.1.2)
12
17.1.2
m
( (ko) 3
(o)
34 14200
34 14200
11 2830
11 2830
50
50 6 152
180
60 40 20 10
(T0115-93)
60
17.1.3
60 40

17

15%

550

(mm)
280
280
152
152

0.025

0.1%

( 30

5 0.074

20 10

53

17.1.1.3

*550
200 0--60

15
13.8kPa

(mm)

250
250
305
305 25

280



PMr:Pp
Py Mr

17.1.34

17.14
17.14.1
@)
@

113)
®
©

) 50
5 50
(6) 17141 () (5

(7

®)

12 (
Rp)
9)

(10)

17.1.4.2
)

My=Ms(Pw/P4-1/Gs)
M,,--

Pd-
Ms--
Pw-- 1000 /
Gs--
@

1/3)

2--3min
3) 17.1.41  (3)(4)

@) 17.14.1

(5) 17141 (3) (5)
(6)

P dmax
(11) 17.1.41 (1) (10)

) d %
%
(
0.5mm 60
10min 60 8min
Ri)
0.2%
( 2% )
1/2h
4.5kg 1000
/
(
(5)
17.1.41 (8)

54

0.3



@) 17.1.41  (9)
17.1.5
17.1.5.1
Pamax=Mo/V
Pdmax- /
Mq--
\V--
V=[V-A(  H/10)]*10°
Vc"
AC"
H=(Ri-Re)+T( )
=(ReR)+Tp( )
Ri-- 0.01mm
R¢--
T,--
/ P dmax
17.1.5.2
P dma=Mn/V(1+0.01w)
‘Mp,--
w-- %
17.1.5.3
(1) 17.1.5 O dmax
2
Pdmax=a+tbInMr
a b
Mr=1 P dmax= P bmax 2= pmax
Pdma=Pomax*tbINMr
Mr=1 P Dmax
17.1.5.4
17.1.55
P amin( P dmax
Pd Dr
60
K=pPo/Pomax*100
17.1.5.6 17.1.5-1
17.1.6
17.1.5-2
17.1.5-1
CR21 XBKD
1.33 50
3*10min

0.01mm

M

(12.0.4-6)

60

0.5mm

55

M,=1

Po

P Dmax

T0123-93)



| | |
| | R
| + ko) | 42.700 | 42.850
| L ko) | 12.800 | 12.800
Mg (ko) | 29.900 | 30.051
M e | |
| Ve Cem) | 14200 | 14200
| Ac S 615.75 | 615.75
| R Co(mm) | 42.275 | 46.350
| Ry Co(mm) | 33.250 | 36.405
H:| Rer| +Tp ‘ (mm) ‘ 21.025 21.945
| V=[Ve-Ac( H/L0)]*10° . (m) | 00129054 | 00128488
MV C (kgmd) | 2316.9 | 2338.7
Mm/[V/(1+0.01¢0™)] o (kg/md) | |
| ( ) Pamax C (kg/md) | 23278
| ( O 0.94
| S C (kgmd) | 11.4
| *Tp= 12mm | |
17.15-2
| | S(kg/m®) | ( ) %
| <5 | +13 | 2.7
] 5--60 \ +22 \ 4.1
1717
17.1.7.1
17.1.7.2
17173 Pana | )
17.1.7.4
17.2 (T0133-93)
17.21
(T0132-93) 17.1.1
17.2.2
17.22.1 17.22 0.75--1kW, 45--50 50 2.5--4.2kN
17.22.2 15 2-5
13.8kPa
17.223 (T0132-93) 450
17.22.4 170--250
17.225 (T0132-93)
17.2.2.6 350 %25 %3 ( * * )
17.22.7 0.5mm
17.2.2.8 600  *500  *80  ( * * )
17.22.9 (T0132-93)

56




17.2.3
17.2.3.1
(1) (T0132-93) 17.1.41 (1)
2) 17141 (2)
3)
4) 6min
(5) 17231 (2) (@)
(6)
0.5mm

(M)
(8) 17231 (1) @)
17.2.3.2
(1) (T0132-93)
2
3) 6min
(4 17232 (2)(3)
(5) 17.1.42 (6)
(6)
7) 17231 (8)
17.2.4
17.2.4.1
Pimax=Md/V

‘Mg--
\/--
V=Ac(H/10)*10®
A--
H--
17.2.4.2
Pdma=Mn/V(1+0.01w)

Mpy--

17.14.2 (1)

pdmax(

(T0132-93)

18 (CBR)
18.0.1

18.0.1.1

18.0.1.2 25
18.0.2

18.0.2.1 38 25
18022 @ 152 170

(T0134-93)

18.0.2.3 : 50

18.0.2.4 50

Pdmax

20

18.0.2-1

100

Pdmax
(
38
1
50 151
(T0131-93)
4.5 450

57

50

15

1/3)



18.0.25 50kN 1
18.0.2-2

18.0.2.6 3

18.0.2.7 ( ) 18.0.2-3

18.0.2.8 ( )

18.0.2.9 18.0.2-4

18.0.2.10 150 52 1.25 4
18.0.2-5

18.0.2.11 25

18.0.2.12 0.1%

18.0.3

50 38 38
25 4 6
(T0131-93)
16.0.4
18.0.4
18.0.4.1 (my)
18042 1 (T0131-93) 16.0.1-1  II-2

18.0.4.3 3 3
( (T0131-93) (16.0.4))

24h 12h 1h 2h

3 9 30 50 98
95% 100% 9 55
18.0.4.4 3-5 ( ) 90
0 )--1100  ( ) 1700 ( 13 12 )

10

18.0.45 (m
2)

18.0.4.6

@ 4

(2 ( )
®3) 25

4)
= / (=120 )*100 (18.0.4)
(5) 15min
(m3)
18.0.4.7
€y

2 45N
(3) 1--1.25mm/min ( 20 40 60)
250*10°2 5 30*10?
18.0.5
18.05.1 )] (L) P--L 18.0.5 L
2 0~ o0~

18.05.2 25 (CBR)
CBR=p/7000*100 (18.0.5-1)
CBR-- %

58



p-- kPa
5
CBR=p/10500*100 (18.0.5-2)
5

18.0.5.3
P=(my-m,)/2177

p_-
m,--
mq--
2177--
18.0.54
P«=P/1+0.01w

Pd—-
w-_
18.0.5.5
W,=M3-m,

Wg--
ms--
m,--
18.0.5.6
18.0.6

3
Cv 12% 3

0.03
18.0.7
18.0.7.1
18.0.7.2 (%)
18.0.7.3 (%)
18.0.5-1

1.69 /
18%
27

2.5

18.0.5-1

C=239.8N/0.01mm

P=C*R/A

L=2.5mm p=611kPa CBR=p/7000*100=8.7%
L=5mm p=690kPa CBR=p/10500*100=6.6%

R
0.9
1.8
2.9
4.0
1.8
51
54
5.6
5.6

18.0.5-2

18.0.5-2
Cv
(%) (1
100 5%
A=19.635
P(kPa)
110
220
354
489
586
623
660
684
684
(1)
( )|l ®@
) 3)

59

12%
0.03

/ 3
2
)
100 10%
(0.01mm)
60.5
106.5
151
194
240.5
286
335
383
488
1
120
128.6

120
136.5

L(mm)
0.61
1.07
1.51
1.94
2.41
2.86
3.34
3.83
4.88

120
133



(%)

ma(9)

4640

5390

m,(Q)

8937

9790

(cm®)

2177

2177

P(glem?)

1.974

2.021

w(%)

18.06

26.01

P4(g/lcm?)

1.672

1.604

(g/cm®)

9537

10390

wa(g)

600

600




19
19.1
19.11

(T0135-93)

19.1.2

19.1.21 1500N

19.1.2.2 50 80

19.1.2.3 152 170
19.1.2.4

19.1.25

19.1.3

(T0131-93)

19.1.4
19.14.1

19.1.4.2

Pa p=100--200kPa 1--2
19.1.4.3 4--6
1min

19.1.5
19.1.5.1 L
L= - (19.1.5-1)
19.1.5.2 p ( ) L
19.1.5.3
E=TtpD/4L(L-]1?)
E-- kPa;
p-- kPa;
D--
L--
”_-
19.1.5.4

0.35
p--L

19.155 p--L

19.1.5.6

19.1.7
19.1.71
19.1.7.2

19.1.7.3 E (kPa)

No.2

19

61

50

(0.1mm)

1min

p--L

151

1min

19.1.5

5%

(0.1mm)

10-

50

p=50--100k



1 25 5 8.91 9.04 8.98
2 50 10 8.15 8.29 8.22
3 100 20 6.50 6.72 6.61
4 150 30 4.96 5.11 5.04
19.2 (T0136-93)
19.2.1
19.2.2
19.2.2.1 CBR (T0134-93) 19.2.2-1
19.2.2.2 152 170
19.2.2-1
1- 2-- 3- 4- 5- 6- 7-
19.2.2.3 50 80
19.2.2.4 200 10
2.2-3 19.2.2-4
19.2.2.5 19.1.2
19.2.3
19.1.3
19.2.4
19.2.4.1
19.2.4.2
19.2.4.3 4--6
19.24.3
19.2.5
19.25.1 19.151 p--? 19.1.5.2
19.25.2 19.15.3 M
19.25.3 19.2.5
(T0135-93)
19.2.5
( )
500
No.8
(k N
Pa) (0.01mm)
1 80 6.56 7.19 7.03 7.11
2 160 13.12 6.68 6.56 6.62
3 240 19.67 6.24 6.08 6.16
4 320 26.23 573 | 563 | 5.68
5 400 32.79 526 | 514 | 5.20
6 480 39.34 4.74 4.60 4.67

62

9.48
9.08
8.27
7.39

50

9.62
9.25
8.40
7.64

p--L

(0.1mm)

7.38
7.07
6.78
6.49
6.16
5.88

7.22
6.95
6.62
6.37
6.06
5.76

9.55
9.17
8.34
7.52

CBR

19.1.4.2

7.30
7.01
6.70
6.43
6.11
5.82

0.57 0.38 22670
0.95 0.76 22670
1.73 1.54 22375
2.48 2.29 22571
151 50
5
19.2.2-2
19.
p p
19.2.5
0.25--0.30
(0.1mm)
(k
Pa)
0.19 145090
0.39 141370
0.54 153151
0.75 147025
0.91 151468
1.15 143828



20

20

20.1
20.1.1
20.1.11

(T0135-93)

20.1.1.2
20.1.2

20.1.2.1
20.1.2.2

20.1.2

61.8 79.8 20
20.1.2.3

0.2--0.5
20.1.2.4 10
20.1.2.5
20.1.3

20.1.3.1

0.01

20.1.3.2

20.1.3.3 0.1
20.1.4
20.14.1
20.1.4.2
20.14.3 1kPa
20.1.4.4

50kPa 100kPa 300kPa 400kPa
20.1.45

20.1.4.6 1
e--1g p

20.1.4.7

min  20min15s

05 025

15
36min  49min 64min
24h

Imin  2minl5s 4min

25min  30min15s 100min  200min 400min

20.1.4.8 (

20.15

20.1.5.1

80=Ps(1+0.0100)/Po-1

20.1.5.2

Si=>  hy/hy*1000mm/m

20.15.3

ei=eg-(1+e0)*Si/1000

20.1.5.4 a
a=(6i-€i41)/Pi41-Pi=[(Si+1-Si) (1+€0)/1000]/(Py.1-Pi)kPa™
20.1.5.5 Es
Es=[(Pi+1-Pi)/(Si+1-S;)/1000]*[(1+€;)/(1+eq)kPa]
a,=1/Es=a/(1+e;)

€.

ay

€0~

Ps-- ( )
Wo-- /

63

25kPa

1000kPa
6minl5s 9min 12minl5s 16
23h  24h

10° /



kPa
20.1.5.6
1.5-1

20.1.5.7
Cc(
20.15.8
(@

d(mm)
ds(

Cv=0.848h%/ty, cm?/s
h=(hy+h,)/4

@
ac )

sl

Cv=0.380h%/tgs cmM?s

®)

dsp=(dg+d100)/2
20.1.5.9

e-lgp  (
oD 0D

20.1.5.10
20.1.6
20.1.6.1
20.1.6.2
20.1.6.3
20.1.6.4
20.1.6.5
20.1.6.7
20.1.6.8

()

Cc Cs

Cs)=(ei+ei+1)/(Igpi+1-1gp;)

Cv
90% too

Vt

90%

68% tog
t
d52d53d54
10

50% ts

d--1gt

20.1.5-4)

Cc E

togg Cv

1gt(min)
d;

t68

Pc

20.1.5-1--20.1.5-3

a(mPa™)

E(MPa)

Cc

Cs

Cv(cm™/s)
Pc(kPa)

20.15-1

©)
()
@)

22.17

17.50

(@)

)

)
17.94

14.61

64

d--/t

tzztll 4

Rmin0

@)
@)

©)

20.1.5-2
1.15

@)

(4)
1-

4.23

2.89

d--/t

d--1gt

OA
Pc

©)

©)
-(3)

10.94

7.61

20.

d--/t

20.1.5-3
d,2d,-dy d

leO

OB AOB

(%)

(6)
(4)/(5)*100

38.6

38.038



| . 1278 | 1026 | 162 | 252 864 | 290 |
B © © e | (gem)
o @ | ®3) | ) | (5)
| o @ 0@ @ @@
| | | | |
( )
. 1663 | 46.5 | 119.8 | 64.4 | 1.86
| 1581 | 46.5 | 1116 | 57.0 | 1.96
Gs=2.75
| | |
| | (%) | 383 | 29.0
| | (glem®) | 1.86 | 1.96
| | | 1.04 | 0.80
| | | 100 | 100
() 20152
| (kPa)
(min) | 50 | 100 | 200 | 400
| | | | | | | |
| 0 | 10:20 | | . 0964 | | 1358 | . 2355
. 025 | 0 | 1020 | 1104 | 10:20 | 1445 | 10220 | 2355
| 1 | | 0410 | L1014 | | 1522 | | 2.405
. 225 | | 0510 | 1062 | | 1590 | 2423
| 4 | | 0602 | L1107 | 1644 | | 2438
. 625 | L0749 | . 1140 | | 1688 | 2450
| 9 | | 0800 | . 1168 | L1722 | 2.460
L 1225 | | 083 | L1192 | | 1748 | 2470
| 16 | | 0854 | 1208 | | 1766 | 2480
L2025 | | 0869 | 1228 | | 1782 | 2488
| 25 | | 0897 | L1232 | L1792 | | 2.495
. 3025 | | 088 | 1240 | | 1806 | 2500
| 36 | | 0891 | L1247 | | 1813 | . 2508
L 4225 | | 08% | | 1253 | | 1820 | . 2515
| 60 | | 0906 | .1258 | | 1836 | | 2530
| 23h | 11:20 | 0962 | L1331 | | 1945 | 2636
| 24h | | 0966 | . 1355 | | 1948 | 2640
| (mm) | 0040 | | 1358 | 1948 | 2640
’ (m ‘ ‘ 0.040 ‘ ’ 1.358 ‘ ‘ 0.062 ‘ ’ 0.074
m)
| | 0926 | 0050 | | 188 | | 2564
()
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ho=20mm  Cv=0.848h%/tg,

Cv=0.197h%t,

€0=1.04
(m (m (mm/ (m (mm/
(h) |(kPa) | m) m) m) m) m)
ei=e,-Si(1
h=> hi/h |s;== hi/ | +e,)/100 'h=(h;+h,)
> h 0*1000 | hy*1000 0 2 S-Sy
0 0 0 20.000 0 1.04
19.537 46.3
24 50 0.926 19.074 46.3 0.95
18.883 19.1
24 100 1.308 18.692 65.4 0.91
18.403 28.9
24 | 200 1.886 18.114 94.3 0.85
17.775 339

24 | 400 2.564 17.436 128.2 0.78

24 | 800 & 3.330 16.670 166.5 0.70 17.053 38.3

20.2 (T0138-93)
20.2.1

20.2.2
(T0137-93)
20.2.3

20.2.4
20.24.1
> hi=(hy)t=(hy) T/(hy)t=K(hj)t

> he-
(ht-- 1h
(hy)t-- 1h
(hn) T--
K=(h)T/(h)t 1
20.2.4.2 () ()
(T0137-93)

20.2.4

66

1h

() )

Cv=0.380h%/teg

(MP
a)

Es

1.03

2.45

3.14

5.15

8.70

(MPa’
D)

1.80
0.80
0.60
0.35

0.20

20.2.4

(cm)

h=(h,+
hy/4

0.977

0.944

0.920

0.896

0.889

10°3(cm?/
s)

Cv
2.18
2.02
1.90
1.62

1.61



h0=20mm

K=(h,) T/(hy)t=1.031

|

‘ (h) ‘ (kPa) () ‘ () ‘ () ‘ ) (mm/ ‘
| | p | ()t | = heKM)t | h=he= h | S== hyh*100 |
| 1 | 50 . 120 L 124 | 1876 | 0062 |
| 1 | 100 . 198 L 204 | 1796 | 0102 |
| 1 | 200 . 276 . 285 L1715 0142 |
| 1 | 400 | 353 | 364 | 1636 | 0182 |
| 1 | 800 | 4.24 | 4.37 | 1563 | 0.219 |
| w0 | am | | |
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21 (T0139-93)
21.0.1
( )
21.0.2
(T0137-93)
21.0.3
( )
21.0.4
21.04.1
21.0.4.2
21.0.4.3
21.0.4.4
20min  30min 1h
0.01mm
21.0.4.5 100kPa

21.0.4.6  200kPa

50kPa
21.0.4.7
21.0.4.8

50kPa
21.0.4.9

21.0.4.10
21.0.5
21.05.1
e=h/hs-1
he=ho/(1+eo)

21.05.2 ( 21.0.5)
em=€p-ep’

m--
e,--pkPa
e, --pkPa
21.05.3
im:em/(1+eo)

im--
€o--
21.05.4 21.0.5
21.0.5

h0:20
e,=1.114
h5:h0/(1+eo):9.461

21

0.03 /

1kPa

50kPa

150kPa 200kPa 21.04.4

21.0.4.4
400kPa

21.045 21.04.7
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( 200kPa

‘ 50 ‘ 100 150 200 \
| | | | | | | | | |
19 30 0000 (11 00 0250 |13 00 0408 |15 30 0570 | 18 00 |0.766
|9 40 | 0223 |11 10 | 0378 |13 10 | 0527 |15 40 | 0700 | 18 10 |2.030
|9 50 | 0240 (11 20 | 0389 |13 20 | 0541 |15 50 | 0720 | 18 20 |2070
110 00 | 0242 |11 30 | 0391 |13 30 | 0549 |16 00 | 0730 | 18 30 |2.090
110 30 | 0247 12 00 0400 |14 00 | 0558 |16 30 | 0749 | 19 00 |2.118
11 00 | 0250 |12 30 | 0405 |14 30 0563 |17 00  0.756 | 19 30 |2.135
| | 13 00| 0408 |15 00 0568 |17 30 | 0761 |20 00 |2.143
| | | | 15 30 | 0570 |18 00 | 0.766 | 20 30 |2.150
| | | | | | | | 2100|2157
| | | | | | | | |23 00 2160

| . 0250 | 0.408 | 0.570 | 0.766 L 2160

| . 0021 | 0.029 | 0.034 | 0.037 . 0037

| . 0229 | 0.279 | 0.536 | 0.729 L2123

| hy | w977 19.621 | 19.464 | 19.271 17877

| ® | 1090 | 1.074 | 1.057 | 1.037 089

| €n | enm=e,-¢ < p=1.037-0.89=0.147

| (im) | im=en/(1+€0)=0.147/(1+1.114)=0.07
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2214
22141

22142

22.15-1
22154
22155
22.1.6

22.15-2
22.16.1
22.16.2
222

50%

(T0140-93)

3-

61.8mm, 20

(T0102-93)
3.0.7

1h

0.02

3.0.6

min

min

0.01mm

kPa
kPa/0.01mm
P

@

2215

C o

(T0141-93)

/min

C

22

10

22.15-1

70

22.1.5-2

3.0.1

22.1.2

1h



2221

10/
22.2.2
22.1.2
22.2.3
22.1.3
22.2.4
22.2.4.1 22241 22244
22.2.4.2 0.8min/min 22.2.45
22.2.5
22.25.1 22251 22254
22.2.5.2 22251 22252
22.2.6
22.16
223 (T0142-93)
2231
10°® /
22.3.2
22.1.2
2233
22.1.3
22.3.4
22.3.4.1 22141 22143
22.3.4.2 0.8min/min
(T0140-93)
22.4 (T0143-93)
22.4.1
2242
() 22.2.5-1
Gs=2.70  eeee-
1 2
1. /1.9 1.9 119 |1.7
e | (glem®) | (1) 1) 6|5 194|175 |57 1T L
1
w | ) | @ @ 6 277' 28.8 | 16.4 2;. 288' 1‘?
4
1)/[1+(2)/10 1. |15 1.5 15 |15
P4 | (glem® | (3) ()[0]() 511 151150 |77 T
e (4) | 10Gs/(3)-1 ;’é 037 0.79 |0.80 %7 °é7 068
5
st ) | (B) | Gs4 |6 9‘7‘3 98.4 |55.4 93' 923' 5,?'
0
1
2mm 2
()

71

22248

1.94

28.8

151

0.79

98.4

22.1.4.7

1.95

22.1.4.8

1.95

28.8

1.52

0.78

99.6



(0.02mm)
@ @
1 1.6
2 9.0
3 11.0
4 12,5
5 14.0
6 145
7 15.3
8 16.6
9 17.0
10 17.6
11 18.3
12 19.0
13 19.7
14 20.0
15 20.8
22.4.3
22431 2
22432
m=VpPy
\/--
Py
m_-
2244
22441
22442
22443
22444
2245
22452
22453
(T0140-93)
22.45-2

300kPa-----
¢=6.21kPa/0.01mm-----

(kP
(mm) a) (0.01mm)
@)=(1)*20 | )\_ o\x

_(2) (4)_(2) c
18.4 10

31.0 56

49.0 68

67.5 78

86.0 87

105.5 90

124.7 95

143.4 103

163.0 105

182.4 109

201.7 114

221.0 118

240.3 122

260.0 124

279.2 129

22.1.2
120 (T0102-93)
22.2.3.2
22151 22152
22.45-1
22.45-2

72

0.853mm
(0.02mm)

@) @)

16 21.2
17 21.8
18 21.8
19 22.2
20 22.8
21 23.0
22 23.3
23 23.6
24 24.0
25 24.5
26 24.5
27 24.5
28 24.8
29 24.8

4.0.1

0.1g

(mm)

(3)=(1)*20
@
298.8
318.2
338.2
357.8
377.2
397.0
416.7
436.4
456.0
475.5
495.5
515.5
535.2
555.2

4min50s------

152kPa------

(kP
a)

(4)=(2)*C

131
135
135
138
142
143
145
147
149
152
152
152
154
154

(0.01mm)



23

23
23.1 (T0144-93)

23.1.1

23.1.1.1 (UU)

23.1.1.2 Cu @,
23.1.2

23.1.2.1 ( 23.1.2-1)

23.1.2.2

1) ( 23.1.2-2) ( 23.1.2-3)

@ ( 23.1.2-4) ( 23.1.2-5) ( 23.1.2-6)
3) ( 231.2-7) ( 23.1.2-8)

23.1.2.3 200 0.01 1000 0.1g
23.1.24 200 0.01g; 1000 0.19
23.1.25 1/100
23.13

23.1.3.1 1% 5kPa

23.1.3.2
1.5*10° /kPa

23.1.3.3

23.1.34

23.1.4

23.14.1 34

23.1.4.2 35 101 2--25

23.14 60

23.1.4

(mm) (mm)
<100 1/10
>=100 1/5

23.1.4
23.1.43 23.1.4.2

23144 (T0102-93) 4.0.1
3--5 5--8

23145
1/3
5kPa
23.1.4.6
DOZ(D1+2D2+D3)/4
D; D, Ds
23.15
23151 (T0102-93) 4.0.9

23152 : 20kPa 1

23153

10--50kPa 30kPa
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u/ o©3>0.98
23.1.6
23.1.6.1

23.16.2
23.1.6.3

23.16.4
23.1.7

23.1.7.1
23.1.7.2

3% 0.7%--0.8%

23.1.7.3
15%--20%
23.1.7.4

23.1.8
23.1.8.1
£,= hihy
Eq-- %
hi"
ho--
23.1.8.2
A=AY(L-£5)
A
Ag“
23.1.8.3
T ,-03=CR/A;*10
O--
O kPa;
C-- N/0.01mm;
R-- 0.01mm

kPa

23.1.8
23.1.84
(O01-03)
(Cwrox)/2

23.1.85
23.1.9
23.1.9.1 ( )
23.1.9.2
Cu(kPa);
@ )

(T0145-93)

23.2
2321
23211

(T0145-93)
(CU cu)
23.2.1.2
23.2.2
23.2.3

23.24
23241

23243

0.5%--1%

0.3%--0.4%

5%

15%

(O1ro)2 (f

20--40

(23.1.8)

Ccu ®Pcu

23.1.2
(T0142-93)

74

23.24.2

23.16



23.25
23251

23.2.5.2
23.2.6

23.26.1
23.2.6.2
23.2.6.3
23.2.6.4

23.2.7
23.2.7.1
he=ho(1-  V/Vo)*®
he--
V--
23.2.7.2
A=Al- VIV)?R
A-
23.2.7.3
A=AJ(l-£))
23.2.7.4
ey

O “1=0;-u

@)
O 73=03U

®)

95%

0.05%--0.1%;

23172 23173

23.1.8.3

kPa

0'1/0'3=1+(G'1'G'3/03)

23.2.7.6
)
B:U(]/o-g

‘B--
Ug--

2
A=Uu/B(O1-O3)f
As--

Us--
23.2.7.7

23.2.7.8
23.2.7.9
23.2.7.10

@ ~ =sintga

@
a_-

C “ =d/cosep
C~--

d--

23.2.7.11

kPa

kPa
23.2.7-1

23.2.7-2
23.2.7-3
23.2.7-4

kPa
kPa
23.2.8.4

12 (C 7O 732 ( 23.2.7-5)

23.2.7.12

23.2.7

75

23.15.3

(T0135-93) 20.1.4.7

0.1%--0.5%

(O 7 yto 7 3)



() 23271
cu
| (kPa)
350
D(em) | 3.91 Uo(kPa)
hL(cm) 8.00 7.96 6.80
2 12.00 11.76
A(cm?) | U
V(cm®) 96.00 93.60
B=p/o;
m(g) 188.54 192.50 193.21
£(%) 6.9
p(glem®) | 1.96 2.06
(o1-03)(kPa) 101
Pd(glem®) 1.60
O 201
| B 053
MO
@) 10 10
o, 148
(@ 21.86 22.43
@ | 11.86 12.43 193.21 o, 47
© 19.63 20.12 - (o
8 3.15
[o 7 /o 7 3Jmax
@ | 9.63 10.12 153.90 Af=pu//B
(or-oy)f
@) 2.23 231 39.31
()
100kPa--- - e

76




(min) O3 Mo 9] v 3))(cm 3(C (min)
m’)
20:30 30 10 17 17 25.8 0.2 0.1
20:50 60 40 38 21 26.0 0 0.5
21:20 90 70 67 29 26.9 | +0.9 1
7:38 120 100 93 26 27.0 | +1.0 5
8:08 150 130 122 29 27.2 |+1.2 9
8:58 180 160 152 30 27.3 | +1.3 16
9:58 210 160 25
10:08 181 29 36
10.8 210 190 185 274 |+14 64
12:08 | 240 220 215 30 275 |+15 105
14:08 270 220 144
14:18 244 29 220
15:08 270 250 250 271.7 | +1.7 300
17:30 300 250 420
1 ) *+)
2
()
------- CU----- 100kPa
------------------------------- h=0.04cm
C=7.455N/0.01mm----------- 0.08mm/min-------
h.=7.96cm-------- Ac=11.76cm?
B a:Ac/(I? R(0.01m JoRCIAGT100 ‘c’;;fr‘c’;;
£;)(cm?) m)
0 0 11.76 0 0
20 1.25 11.79 0.7 6 106
60 0.75 11.85 0.9 50 150
100 1.25 11.91 8.0 72 172
170 2.14 12.02 11.6 82 182
210 2.64 12.08 13.8 85 185
300 3.77 12.22 14.9 90 190
350 4.40 12.30 15.3 92 192
420 5.27 1241 15.9 95 195
500 6.28 12.55 16.5 98 198
550 6.91 12.63 17.1 101 201
600 7.55 12.72 17.9 105 205
700 8.80 12.89 18.4 106 206
850 10.65 13.16 19.9 112 212
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255
256
286
297
303
306
307
308
308
308
308
306
305
301

36
37
53
56
57
57
58
58
58
56
55
51

(kP

a)

328
328
328
328
325
322
317
311
306
299
289
281
272
263

(kPa)

100
114
125
129
129
133
135
137
138
143
149
151
161

78
78
78
75
72
67
61
56
49
39
30
22
13
6

94
64
53
47
44
45
43
42
42
42
42
44
45
49

V 4

(cm

)
27.7
27.2

27.05
26.8
26.7
26.6
26.5
26.4
26.2
26.0
25.9
25.7

25.55
254

(c

m?)
0
0.5
0.65
0.9
1.0
11
12
13
15
1.7
18
2.0
2.15
2.30

”~

3 | O

1.06
1.78
2.36
2.75
2.94
3.09
3.14
3.26
3.28
3.40
3.39
3.36
3.28
3.26



1000
1160
1250

23.2.8
23.2.8.1
23.2.8.2
23.2.8.3
23.2.84
23.3
2331
233.11

233.1.2
23.3.2

23.3.3
23.3.4

23.35
23.3.5.1
23.3.5.2
A=(Vc-

23.3.5.6

23.35.7
23.3.6

23.36.1
23.3.6.2

12.57
14.59
15.70

Vi)/(hc'
V-

13.45 21.3 118 218
13.77 22.2 120 220
13.95 23.0 123 223
)
Ccu,cu
C"(p’
As
(T0146-93)
Cs Pq
23.1.2
(T0142-93)
(T0145-93)
0.003%--0.012%
(T0145-93)
h;)
23.1.8
(T0145-93)
(T0144-93) 23.1.8
(T0145-93) 23.2.7
)
Cy @q
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(

298
296
294

23.3.5)

48
46
44

170
174
179

(T0145-93)

52
54
56

3.26
3.22
3.20



24

24 (T0147-93)

24.0.1
24.0.1.1

24.0.1.2

24.0.1.3 30
24.0.2

24.0.2.1 (

24.02.2
@ ( )
(2 (

3 (
@) ( 24.0.2-2)
®)

(6) 100

@ 5

®) 100

© ()

(10)

(11)

12) (

24.03

24.03.1

24.03.2

24.03.3

24.03.4

24.035

24.0.3.6

24.03.7

24.0.3.8

24.0.4

24.04.1

)

@ (

*)
5%
5%

)
Pi=(100-pm)/(Pm-Ps) (Poi-Ps)+Poi
Pi--
Ps-- 5
Pm-- 60
Poi--
(5) 0.5--60mm

04(%)=(m-ms)/mg*100
24.04.2
(1) 30

10t 30t

*75

)

50

0.1g

1/3

0.5mm)

%
%
%
%
(02)

(m)

60

79

0.5--60mm

75

10-

3/4

11-



@

5mm

©)

My =(g-001)Ms

My
Wy--
;-

%
%

W  w;0.5--60mm

Mg--

m;--0.5--60mm
n--0.5--60mm

4)
®)

(6)
™
®)
+2
©)
(10)
24.05

24.05.1
24.0.5.2

24.05.3

24.0.54
24.055
24.0.5.6
24.0.5.7

5kPa
24.0.5.8

min
24.0.5.9

SK3
24.0.5.10

24.05.11

24.0.6
24.06.1

)

0.5
()
1/6
24h
200kPa
100kPa 150kPa 200kPa 250kPa)
KS;
( )
(
1
0.5mm
1 2
5
SK3 SK; SK;
SK4 SK;
SK3
o, s
p

P=CR (24.0.6-1)

80

0.5mm
(
( )
SKs
(
1.5mm/min

SK;

SK3
SK;

SKy

10

SK;



P-- N

C-- 10N/0.01mm
R-- 0.01lmm
2 &
£:= h/hg
h--
ho--
3) \Y
V= Vi+ V,
V- ( )
V- ( )
Vo=1td¥4* h=442 h( d=7.5cm)
4) Aa
A=(Vot+ V)/(hp- h)
Vo--
®)
O1-03=P/Aa
(6) O
o 1=P/Aa+C;
24.0.6.2 C o
(1) O 1max
(AC
o T (C1maxtO3)2

=arc sin(m-1)/(m+1)
C=b/2~/m
0.99

m:[Z(O_SO_lmax)'lln(Z0_3)(Zo—1max)]/[zo_23'1/n(z0_3)2]
n_-

O 1max=-
O3
24.0.6.3 24.0.6
24.0.6
a) b)
() 24.06-1
70%
ho(cm)
(/) 0.5 d(cm)
(mm/min) 1.5 Aa(cm®)
(kPa) 50--100--150--200 Vo(cm?)
C(10N/0.01mm) 1109048 P4(cmd)
()

81

(Glmax'o3)/2

C

24.0.6

93.3

59.9
30
706.86
42 340.82
2.2



(10%kP
a

(cm 3 (cm?) (10%Pa)
_ Z cm \% )
=o01m| o | =001 _ 3 (cm) (cm?)
m mm
- Vi= V- V,=44.2 2 AQ:(V0+ Gl-o‘Z:P/
R( ) | P=CR h hih Vv Vi I o e by | o
0 0 -300
©5=100k 40 660
Pa
1261.9
106 1 100 0.0017 -690 -390 -4.42 -394.42 701.44 1.80 2.80
2000.0
168 0 200 0.0033 -680 -380 -8.84 -388.84 702.71 2.85 3.85
2511.9
211 1 300 0.0050 -650 -350 -13.26 -363.26 704.32 3.57 4.57
2845.2
239 6 400 0.0067 -605 -305 -17.68 -322.68 706.19 4.03 5.03
3083.3
259 4 500 0.0083 -560 -260 -22.10 -282.10 708.06 4.35 5.35
3261.9
274 2 600 0.0100 -515 -215 -26.52 -241.52 709.94 4.59 5.59
3392.8
285 7 700 0.0117 -460 -160 -30.94 -190.94 711.99 4.77 5.77
3500.0
294 1 800 0.0134 -410 -110 -35.36 -145.36 713.97 4.90 5.90
301 35853'3 900 0.0150 -360 -60 -39.78 -99.78 715.95 5.01 6.01
3619.0
304 6 1000 0.0167 -310 -10 -44.20 -54.20 717.94 5.04 6.04
o;=150k 805
Pa
3619.0
304 6 1015 0.0169 -555 -255 -44.86 -399.86 713.95 5.07 6.57
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25 (T0148-93)
25.0.1

25.0.1.1

25.0.1.2

25.0.2

25.0.2.1

25.0.2.2 (T0144-93)
25.0.2.3

25.0.2.4 10
25.0.2.5 ( 01g)
25.0.3

25.03.1

25.0.3.2
2 2.0--2.5
25.0.4
25.04.1
Do

D0:(D1+2D2+D3)/4

:Do--
D, D, Ds-
25.0.4.2
25.04.3

25.0.4.4 1%--3%/min
25.04.5 3% 0.5%
25.0.4.6

0%

25.04.7

25.0.4.8

25.05
25.051
&= h/ho
h=n L-R
£ %
ho--

R-- 0.01mm
25.0.5.2
As=A(l-£,)
As--
Ag--
25.0.5.3
o=10CR/A,
O-- kPa;
C-- N/0.01mm
R-- 0.01mm;

25.0.5

25

25.0.2-1
25.0.2-4
4 10 25.0.2-2
0.01
40 10
0.19
(6--12r/min) 8--20min
3% 1%
3%--5%

25.04.3 25.04.7

0.01mm

- (  25.0.5)
15%

83

Qu



25.0.5.5 St
St=qu/0, 7
Qu--
Qu - kPa
25.0.5.6 25.05
25.0.6
25.0.6.1
25.0.6.2 qu(kPa)
25.0.6.3 St
25.0.5
ho=-----cm
Ag=-aamn cm?
[ SR glem®
qu=-----kPa
qu 7 =---kPa
R(0.01mm) L(cm)
) @

kPa;
Dy=--------- cm
m=-----g
C=-—-mmm-- N/0.01mm
h
(%) £4(%)
3) 4)
2-() (3)ho

84

a(cm?)

®)

Ad[1-(4)]

A

P(N)

(6)

H*C

(kPa)

U]

(6)
®)

O



26
26.0.1

26.0.2
26.0.2.1
26.0.2.2
26.0.2.3
26.0.3
26.0.3.1
L
26.0.3.2

26.0.3.4
26.0.4

26.0.4.1
26.0.4.2

26.0.4.3

26.0.4.4
26.0.5
26.0.6

26.0.6.1
26.0.6.2

(T0149-93)

pH4.01

pH9.18

3min
pH

pH

100

(KCL)

0.01g

10.21

3.89

30min

(

25--30

pH

26

105--110
(NazB4O7.10H20 ) C02
2 )
KCL
10

50

0.01pH

85

(KHCgH,0,

50

1L

2min

pH

5)



27
27.0.1

27.0.2
27.02.1
27.0.2.2
27.0.2.3
27.0.3
27.03.1

27.0.3.2

27.0.4
27.04.1

(T0150-93)

1300
100

950

1 ( 100--105

(%)=[m-(m,-m;)]/m*100

m__
m;--
my--
27.0.4.2

27.05

27.0.6
27.0.6.1
27.0.6.2

27.0.4
27.04

m(9)
+ m2(g)
ms(g)
(%)
(%)

(%)

27

0.5h

0.5h

1.790
21.602
19.876

3.536

86

8h)1--2

(

(0.5--1min)

0.0001g)

3.5365

2.103
20.395
18.366

3.537

0.5h

0.5mg



28

28 (T0151-93)
28.0.1
15%
28.0.2
28.0.2.1 200
28.0.2.2
28.0.2.3 :
28.0.2.4 :0--250 1
28.0.3
28.0.3.1 0.0750mol/L1/6K,Cr,0,-H,S0,) 105--110 44.1231g
00 ( ) 1000 2L

8

6H,0)80 15 ( 184gimL ) 1L
28.0.3.3 (C12NgN,.H,0)1.485 (FeS0O,.7H,0)0.695 100

Fe?* [Fe(C12HgN2)s]*"
28034 () 2
28.0.35 (H,S0,) (  184g/mL)
28.0.3.6 200 0.25mm
0--800 1--2h,
28.0.4 ( ) K2Cr,0, 3 20 150

60 3-5 ( )

( ) 0.0001mol/L

28.0.5
28.05.1 100 0.1000--0.5000
0.0750mol/L1/6K,Cr,0; 10 ( 3 )

28052  8-10 ( 1--2 )
185--190 170--180
170--180 5min

28.0.5.3 250 60--70
3--5 ( )
( ) 0.01mL

28.0.5.4
28.0.6
28.0.6.1

(%)
=C|:eso4(v “ ,:e504-V|:e504)*0.003*1.724*1.1/m5*100

Cresos—- mol/L;
V % resos—
VEesos—
Ms-- ( )
0.003--1/4 g/mmol,
1.724--
1.1--
28.0.6.2 28.0.6
28.0.7

28.0.8

28.0.8.1

28.0.8.2 (%)
28.0.6

87

70



0.1434

| 1 | 2

my(g) | 0.3992 | 0.4016

| | 0.00 | 0.00

ML)V “resos | | 24.87 | 24.87

| | 24.87 | 24.87

| | 0.00 | 0.00

(ML)Vresos | | 19.20 | 19.20

| | 19.20 | 19.20

(%) | 1.16 | 115

10
60--70
90% 11

88




29

29
29.1 (T0152-93)
29.1.1

29.1.2

29.1.2.1

29.1.2.2 4000r/min

29.1.2.3 200 0.01g

29.1.2.4 1000

29.1.25

29.1.3

29.1.3.1 1 50--100 (

(1000 ) 15

) ( )3min

29.1.3.2

29.1.33
29.1.3.4 pH CO%*; HCO5

29.2 ( )(T0153-93)
29.2.1

29.2.2
29.2.2.1 200 0.0001g
29.2.2.2
29.2.3
29.23.1 15% H,0,
29.2.3.2 2% Na,CO; 2 Na,CO; 100
29.24
29.2.4.1 50 1000 ( )
1)
( ) 15%H,0,I--3
29.2.4.2 105--110 4--8h
0.5h, 0.0001g
29.2.5
29.25.1
(%)=(my-m4)/ms*100
m,--

ms-- 50 100
29.25.2 29.2.5

29.2.7.2 (%)
29.25

V(mL) 50
1
+ (9) 57.3974

89

0.01g
(
105--110
0.5h,
2
57.4828

10min

2--4h

1000



©)

(%)
(%)

1) CaS0,2H,0  MgS0,.7H,0
- 180 CaCl,.6H,0

9%Na,CO5
Na,CO;

@ (

29.3

29.3.1

29.3.2
29.3.2.1
29.3.2.2 (

29.3.2.3 150

29.3.24
29.3.2.5
29.3.3

29.3.3.1 0.1mol/L1/2H,SO, (

5000
29.3.3.2 0.1%
29.3.3.3 0.5%
29.34
160--108

C=m/V*0.053
C--1/2H,S0,

m_-

V--

0.053--1/2NaCO3

29.3.5

29.35.1

H,SO,
29.35.2

29.3.5.3
29.3.6
29.3.6.1

57.3850
0.0124
0.124
0.126

105--110
180
NaCl Na,SO, CaCO; MgCO; 180

(T0154-93)

0.1mL

) 25

200
200 0.0001g

1.84g/mL)3mL 1000
29.3.4
0.1g 100
05 50  95% 50

2--4h Na,CO53 0.1g 0.0001g

(29.3.4)

mol/L;

g/mmol

25 0.5% 2--3
CO?%, H,S0,
0.01mL(V,)
0.1% 1--2
H,S0,

H,SO,
0.0ImL
cr

CO?%3(mmol1/2C0% 3/kg)=2V *c/m*1000
CO?3(%)=CO?3(mmol1/2C0O?4/kg)*0.0300*10™*
HCO3; (mmolHCO3/kg)=(V2-V1)*c/m*1000
HCO3 (%)=HCO5 (mmolHCO; /kg)*0.0610*10™*

V- Cco%,

V- HCO4
¢--1/2H,50,

m__
0.0300--1/2C0O%,
0.0610--HCO;"
29.3.6.2

H,SO,

mol/L

g/mmol,
g/mmol
29.3.6
29.3.6

90

57.4700
0.0128
0.128
10mL2
2h X3 7
CO,
3 25
0.0001mol/L
CO?%,



H,SO,

CcO%,

HCO3

CO%5(%)
CO%3(%)
HCO3 (%)
HCO3 (%)
2937

29.3.8
29.3.8.1
29.3.8.2
29.3.8.3
29.4
2941

2942

(25

29.4.3
29.4.3.1 5%

29.4.3.2 0.02mol/L

1L

29.4.3.3 0.02mol/L

29.4.4
29441

(PH

29.4.4.2

5--6

29.4.5
29451

(mL)

©)
(mol/L)

H,S0, (mL) 0.74
H,SO0, (mL) 8.12
0.018

0.166

(%)
(%)
- (T0155-93)

)

(K»CO,)5
100

1mol/L

105--110 30min

(NaHCO,) 1.7 NaHCO;
ol
7) 5% 0.5mL
( )
CO%; HCO5
0.02mol/L (NaHCO3)

AgNO;

ClI'(mmol/kg)=V*c/m*1000
CI"(%)=CI(mmol/kg)*0.0355*10""

AgNO;3

Cl'(%)

mol/L;

g/mmol
29.4.5
29.45

V(mL)

)
(mol/L)

AgNO; (mL) 0.88
0.011

91

AgNO;

25
0.01024
2
0.72
8.10
0.0174
0.0177
0.166
0.166
AgNO;3.397
1L
0.02mol/LNaHCO,
V)
25
PH 7 506K,CrO,
cr
25
0.01804
2
0.90
0.012



cr (%)

(1)K,Cro,
Cro?%,

0.012

Cro%,
5 K,CrO, 1

@) AgCl cr cr

29.4.6

29.4.7
29.4.7.1

29.4.7.2

29.4.7.3 (%)
295 -

295.1

(T0156-93)

295.2
295.2.1 (50 ) (150

Ccr

)

29.5.2.2 ( )25 L

29523 200
29.5.3
29531 0.59

0.0001g

29.5.3.2 0.025mol/L
1000
)
29.5.3.3 0.05mol/L
2954
2954.1 25 150
29.5.4.2 10

¢ )

3.2mL

2955

29.55.1

CI'(mmol/kg)=V*c/m*1000

CI(%)=CI"(mmol/kg)*0.0355*10™
c--1/2Hg(NO3), mol/L;

V--

m_-

0.0355--CI’ g/mmol

29.55.2 29.45

(1) PH
@)

3

295.6

295.6.1

29.5.6.2

295.6.3 (%)

29.6 ~-EDTA
29.6.1

29.6.2
29.6.2.1 ( )25

29.6.2.2 150

29.6.2.3 ( )25 50
29.6.2.4

2963

29.6.3.1 0.01mol/LEDTA

29.6.3.2 29.8.3.2
29.6.3.3 K-B T

29.6.3.4 0.59 2-

0.05mol/LHNO;

0.05g 0.12g FF 100

0.025mol/L

(142 1000

Hg(NO3),

3-35 PH PH

(T0157-93)

0.1mL

29836 2984

29.8.34 29835

(@ 4 -1 )-3- CoiH1,0:N,S

92

95%

1--1.5

50gNaCl(

AgCrO,

)



29.6.3.5 2mol/LNaOH 8.0NaOH 100
29.6.4
29.6.4.1 Ca®*+Mg* 25
K-B 01lg EDTA
) 0.01mL
29.6.4.2 Ca®t 25 25
2mol/NaOH2mL, 1--2min
DTA
L) 0.01mL
29.6.5
29.6.5.1
Ca**(mmol1/2Ca®*/kg)=c*V,*2/m*1000
Ca*(%)=Ca*"(mmol1/2Ca®*/kg)*0.0200*10™
Mg?*(mmol1/2Mg®*/kg)=c*(V,-V,)*2/m*1000
Mg?* (%)=Mg?*(mmol1/2Mg?*/kg)*0.0122*10

c--EDTA mol/L;
m_-
0.0200--1/2 g/mmol;
0.0122--1/2 g/mmol,
1) Fe* AP Mn* T1*
2
2) ca®* Ca**+Mg* PH
PH
29.6.5.2 29.6.5
29.6.5
V(mL)
Cepra(mol/L)
ca®t EDTA (ML)V;
ca**Mg? EDTA (ML)V,
Ca?*(mmol1/2Ca%/kg)
Ca®*(mmol1/2Ca’*/kg)
Ca®* (%)
Ca®* (%)

Mg* (mmol1/2Mg?/kg)
Mg?*(mmol1/2Mg?'/kg)
Mg™ (%)
Mg™ (%)

29.6.6

29.6.7

29.6.7.1

29.6.7.2 (%)

29.6.7.3 (%)

29.7 - (T0158-93)
29.7.1

29.7.2

29.7.21 : 1100
29.7.2.2 30

29.7.2.3

29.7.2.4

93

150

PH

NaOH

4.18

5.40

0.0853

0.0342

0.249

0.0061

pH10 2
EDTA (Va)(
1 1HCI 1min
12 0.1g, E
EDTA V,(m
1 2
PH10 PH
25
0.01020
2
4.20
5.42
0.0857
0.0855
0.0342
0.0342
0.249
0.249
0.0061
0.0061



29.7.2.5 ( )

29.7.2.6

29.7.2.7

29.7.3

297311 3 1 3

29.7.3.2 10% BaCl,.2H,0 100

29.7.33 1% 1gAgNO; 100

29.7.4

29.7.4.1 50--100 150 1 3 5
100--105 1h

29742 2 1 3 10--30

29.7.4.3 30--40 10%
2--4 15--30min 2h
29.7.4.4 2--3

29.7.4.5
29.7.4.6 600 15--20min 30min 15--20min
( 0.0005g)
29.7.4.7
29.7.5
29.75.1
S0,% (%)=(m;-m,)*0.4116/m*100
S0,Z(mmol1/2S0,2/kg)=S0,* (%)/0.0480*10
my--
my--
m_-
0.4116-- (S04%)
0.0480--1/2 g/mmol
29.75.2 29.75
( ) 2975

(mL) 50
1 2
( + ) () 18.3535 19.0046
(9) 18.3512 19.0022
(9) 0.0023 0.0024
(9) 0.0004 0.0004
S0,% (%) 0.0078 0.0082
S0.Z (%) 0.0080
S0,%(mmol1/250,%/kg) 0.081 0.085
S0,#(mmol1/2S0,%/kg) 0.083
1)
2)
0.05mol/L

3) BasoO,
2--3 600

29.7.6
29.7.7
29.7.7.1
29.7.7.2

94



29.7.7.3
29.8
29.8.1

(%)

--EDTA (T0159-93)

29.8.2
29.8.2.1
29.8.2.2 50
29.8.2.3 150
29.8.2.4 (
29.8.3

29.8.3.1

200 0.0001
0.1mL
200

)25 50

2.44BaCly.2H,0( )
S0,%1mg
67.5gNH,CI(

2.04gMgCl,.6H,0( )

0.01mol/L
29.8.3.2 pH10 0.9 NH325%)570
298331

29.8.3.4 K-B

4HCI 1 HCI(
0.5¢ K

) 4
0.1g B 100 105
29.8.35 T :0.5¢ T
29.8.3.6 0.001mol/L EDTA

) 80 2h

100 NaCl( )

3.72gNa,EDTA 1L

29.8.4 EDTA
29.8.4.1 110 CaCO4( )

1 1 10

0.49

500
29.8.4.2
( T )
EDTA (mol/L)
CEDTA:m/O. 1001*(V'V0)
0.1001--CaCOg

29.84.1 25
EDTA

250 20

g/mmol,

EDTA
EDTA

29.85.1 25 1 5
25--100% (

150 1
5--20 ) 5min
H10 5 T K-B 0.1 EDTA
EDTA Vi)
4HCI15 5 10
K-B 0.1g

29.8.5.3 25 1
) PH10 5 T
EDTA Vo )

29.8.5.4 ( :Ca®* Mg* )
) 150 1 1HCI2 1min

L K-B EDTA

29.8.6

29.8.6.1

S0,2(mmo1/2S0,% 1kg)=2¢c(V,+V3-V;)/m*1000

S04%(%)=S0,>-(mmol1/2S0,* /kg)*0.0480*10™"
c--EDTA mol/L

Vi( )

m_-
0.0480--1/2 g/mmol
S0~

Vo+V3-Vi=AmL AmL+A*25%<=

S0,%
S0,% Vp+V4-V;<0
AmL+A*25%> Bacl,
29.8.6.2 29.8.6

(EDTA ) 29.8.6

95

(Na,;EDTA,Na,H,C10H1,08N,.2H,0,

0.0001g,

pH10

EDTA

29.8.5.1

1L Ba?* Mg?

1L

NaCl-

372.1
EDTA

400

4HCI5

2h 29852 P

(25

PH10 3.5m

Baclz
Bacl,

V2+V3-V1=0

SO,



V(mL)

EDTA (mol/L)

\ EDTA (mL)

V, ( ) EDTA (mL)

Vs ca®* Mg* EDTA (mL)

50,4 (mmol1/2S0,%/kg)
S0,%(mmol1/250,%/kg)
S04~ (%)
SO (%)

29.8.7

29.8.7.1

29.8.7.2

29.8.7.3 (%)

29.9 - (T0160-93)
29.9.1

29.9.2

29.9.2.1

29.9.2.2 200 200 0.0001g

29.9.2.3

29.9.3

29.9.3.1 0.1mol/L 34.2gA1,(SOy)s

29932 (KY 105--110
K*0.1mg/mL,

29.9.4

29.95
Na* K*

29.9.6
29.9.6.1
Na*(mmolNa*/kg)=(Cna*25/V)/m*1.0/23
Na'*(%)=Na*(mmolNa‘*/kg)*0.023*10™*
K*(mmolK*/kg)=(Cx*25/V)/m*1.0/39.1
K*(%)=K*(mmolK*/kg)*0.0391*10™!

‘Cra~- ppm
Ci- ppm

23-- g/mol;
39.1-- g/mol
29.9.6.2 29.9.6

29.9.8.2 (%)
29.9.8.3 (%)
( ) 29.9.6

96

6.70

5.20

5.50
0.816

0.078

1000
KCl0.1907g

25
0.01020

0.814

0.078

Na*

6.72

5.20

5.50
0.812

0.078

1000

5--7



| v

K*(mmolK*/kg)

|
|
| Na* (ppm) |
Na'(%) |
Na“% |
|Na*(mmoINa+%/kg) |
| |
| K* (ppm) |
K (%) |
K* (%) |
|
|

97




30

30 ( )(T0161-93)
30.0.1

(>1%)
30.0.2
30.0.2.1 200 0.0001g
30.0.2.2 (4000r/min):80
30.0.2.3
30.0.2.4
30.0.3
30.0.3.1 70% 700 1000
30.0.3.2 1mol/LHCI:83.3mL  HCI 1L
30.0.3.3 10%BaCl, (WIV) 10gBaCl,.2H,0 100

30034 1 1INHy, 1 NH; +1
30035 1 1HCI1 HCI+1

30.0.3.6 1%(W/V) 100
30.0.4
30.0.4.1 C 1% 0.25mm 110 ( 0.1--0.80)
0% 2500--3000r/min S0,%
30.04.2  1mol/LHCI : 1mol/LHCI 30 100
30.0.4.3 BaSO, 30 250 2--3 1 1
1 1 1HCI 29.7.4
30.0.5
30.0.5.1
CaS0,.2H,0(%)=(mM;-mg)*0.738*2/m.*100(1+H)
Mo--

mq-- +BaSO, CaS0,4.2H,0
2-- (100 /500 )
H--
0.738-- BaSO, CaS0,4.2H,0 (CaS0,.2H,0/BaS0,)
30.0.5.2 30.0.5

( ) 30.05

@
H)
(mL)
1

mo(9)
( +BaS0y,) m4(g)
CaS0,4.2H,0(%)
30.0.6

c

30.0.7
30.0.7.1
30.0.7.2 (%)

98

50



31

31 ( )(T0162-93)
31.0.1

31.0.2
31.0.2.1 ( 31.0.2)
31.0.2.2 200 0.01g
31.0.2.3
31.0.24
31.03
310311 3HCEL HCl 3
31.0.3.2 0.1%
31.04
31.04.1 (3102 )
31.04.2 0.5mm 105--110 1-5 0.01g,
3 3 @
31.04.3 ®3) @)
4
31.0.4.4
3) (4)

31.0.45 31.04.1 31.0.4.4
31.05.1
CaCO4(%)=VV*p*2.272/(m,*10%*100

Mg~

p-- Mg D

31.0.5.2 31.0.5

31.0.7
31.0.7.1
31.0.7.2 (%)

( ) 3105

99

4)

1

3HCI



(Pa)

ms(g)

o,

(mL)

(CaCO5(%)

| (%)

100




32
32.1 EDTA-
32.1.1

EDTA-
32.1.2

32.1.21
32.1.2.2
32.1.2.3
32.1.24
32.1.25
32.1.2.6
32.1.3

32.13.1

32.1.3.2
32.1.33

95%
2%

PH

32.1.34

32.1.35
32.1.3.6
32.1.3.7

0.1%

K-B

32.1.3.8

32.1.3.9
0

32.1.3.10 PH10

32.1.3.11
32.1.4
32141
32.1.4.2

32.1.43
32.1.4.4
3251.4.5
32.1.4.6
32.1.4.7

32.14.8

32.15
32.15.1

0.005mol/L EDTA(

)

0.05mol/L

32

(T0163-93)

(
100

3000--4000r/min)

200 0.001g

) 1mol/L
1000
8.5(

20 60

(
4.5(

):

)

( 500--600

0.1g

4.17mL,
1

0.5g K

0.1g 0.5g
PH 45
134

( 32

)
33.75

60

( 0.01g)

EDTA-
80

100

80--100

2% 25

30--50

0.05mol/L

(mmol/kg)=C*(V-V;)/m*1000
mol/L;

101

(NH,0A,)
900

0.

100

460

77099 EDTAL641g

11 PHT(

1000
5h
(PH6.2--7.6

1000
50

( 29.3.4)

100 95%

20
0.9

285 500

2--5 100

1--2min

3--5min 3000r/min

95%

150
) 1



32.15.2 32.15
(EDTA- ) 3215

(mol/L)

m(g)
HCI (mL)
Vo(mL)
HCI V(mL)
(m mol/kg)

32.1.6

32.1.7
32.1.7.1
32.1.7.2 BG
32.1.7.3 (mmol/kg)
32.2 - (T0164-93)
32.2.1
5% ( 95% )
32.2.2
32.2.2.1
32.2.2.2
32.2.2.3
32.2.3
32.23.1 - : 3.55¢g 1.34g 1000
H 70
32.2.3.2 0.05mol/L NaOH : 2.0g NaOH( ) 1000

32.2.3.3 0.05mol/LHCI . 41mL  HCI 1000 0.05mol/L NaOH
32234 (37%) 1 100  80%

32.2.4 0.05mol/LNaCH
32.24.1 0.2000g Mi2c204-2H,0
32.2.4.2 50 1% 1--2
32.24.3 NaOH NaOH (mL).
32.24.4
CnaoH=Mr2c204.2H,0/(126.07/2000)*Vzon
“Mp2c204-2H,0--
VNaOH-- NaOH
126.07/2000--1/2H,C,0,.2H,0 kg/mol
32.25
32251 0.5mm 2 200
OmL 2min Imin 2min( 10min)

25.

32.2.5.2 10 0.05mol/L(  0.1mol/L) (0.05mol/L HCI10m

L ) 1--2min 0.05mol/LNaOH
32253 37% 3 1% 2 0.05mol/LNaOH
1--2 0.05mol/L NaOH
NaOH ( ) 0.01mL
32.25.4 10
NaOH
32.2.6
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(mmol/kg)=(Vo-V)C/m*100

Vo-- NaOH
V-- NaOH
C--NaOH mol/L;
ms-
)
)
PH 8
3
32.2.6
( - ) 3226
| Cra(mol/L) |
| Cuaon(mol/L) |
| | |
| © | |
|CHCI (mL) | |
|CNaOH (mL) | |
|CNaOH (mL) | |
| ChaoH (mL) | |
|CHCI (mL) |
|CNaOH (mL) | |
|CNaOH (mL) | |
| Chaon (mL) | |
| (mmol/kg) | |
32.2.7
32.2.7.1
32.2.7.2
32.2.7.3 (mmol/kg)
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33

33
33.1 (T0165-93)
33.1.1

33.1.2
33.1.2.1 ( )

33.1.2.2 (1000 )

33.1.2.3

33.1.2.4 0.0001g

33.1.2.5

33.1.2.6

33.1.2.7 ( )

33.1.3

33.1.3.1 : 120

33.1.3.2 1% 0.5 50

331331 5 1 5

33.1.3.4 1.19

33.1.35 1% 1 1000

33.14

33.1.4.1 25 0.1mm 0.5000g

( 0.50)

33.1.4.2 ( ) 950
2min 6--8min

33.1.4.3 200 1 5HCL 3
1 5HCL 25
33.1.4.4 1 1HCL

33.1.45 70
10 4min 15min
33.1.4.6 1 5 3 CcL (
) ( 6--8 ) 250 A

33.1.4.7 (900--950 0.5h)
( 03mg ) 33141 33.1.47

33.15
33.15.1
SiOz(%)=[m2-m1-mo]/m*100
my--
m;--
Mo--
m--
33.1.5.2 33.15
33.15

m(9)

(m2)(9)
my(Q)
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SiO; mo(Q)

ma-my(9)
SiOz(%)=[m2-m1-mo]/m*100
SiO(%)

33.16
33.1.6.1

33.1.6.2 (%)

33.2 (R,05) (T0166-93)
33.2.1

33.2.2

33.2.2.1

33.2.2.2

33.2.2.3

33.2.24

33.2.25

33.2.2.6

33.2.2.7

33.2.3

33.2.3.1 2% ( )20 1000
H7

33.23.2 ( )1.7g 100
332331 1 1 ( ) 1

33.234 1 1HCL

33.2.35 0.1% 0.1g 100 99%

33.24

33.24.1 A 100 300

min

33.2.4.2
33.24.3 (

500 B
33.24.4 950
0.0005¢
33.25
33.25.1
R,05(%)=(m,-m;)m*t;*100
m,-- +R,03

t= (A) c
33.25.2 33.25

33.2.7.2 (%)
33.25

m(9)

105

0.5h

0.5h

HCL5
6--8

H,SO,

10



+

(m2)(9)

ms(g)
m,-my(9)
R,03(%)=(m,-m;)/m*t*100
R203(%)

333 (T0167-93)
33.3.1

EDTA
3332
33321 50 0.1mL
33.3.2.2 ( )50
33.3.2.3 20
33324
3333
33.33.1 10% .10
33.33.2 0.5g
33.33.3 - 60
33.3.3.4 0.01mol/L 2.29

33.3.3.5 0.01mol/L EDTA
33.34
33.341 50 A 50
2 20%

90
50

5 100

1L

29836 2984

200 0.5mL

) PH 25 45--55 EDTA

33.34.2 EDTA

33.3.4.3
101 PH 4-5

33.35

33.35.1

Fe,03(%)=(c*V*0.07985)/m*50/250*100
AlLO3(%)=[c(V2-V1)*(25/V,)*0.05098]/m*50/250*100

c--EDTA mol/L;

V-- EDTA
V,--
Vl“
25/V,-EDTA
m--
50/250-- A /A
0.07985--Fe,03 g/mmol;
0.05098--Al,04 g/mmol;
33.35.2 33.35
33.3.6
33.3.6.1
33.3.6.2 (%)
33.3.6.3 (%)

EDTA (mol/L)

m(g)

25mL,
8 3min

25 EDTA
60

106

20%

(30%)

5min

60

25



EDTA

V(mL)
ZnAc,
Vy(mL)
EDTA ZnAc,

Vo(mL)
Fe,03(%)=(C*V*0.07985)/1/5m*100
Fe,03 (%)
Al,03(%)=[C(V,-V1)*25/V,*0.05098]*100/(1/
5m)
AlO3 (%)
334 (T0168-93)
3341
33.4.2
33421 50 0.01mL
33.4.2.2 ( ) 50 100
33.4.23 150 200
33.4.24
33.4.3
33.4.3.1 20%
33.4.3.2 20% 20 80
33.4.3.3 5% 5 100
33.4.3.4 0.01mol/L EDTA 29.83.6 29.84
33.4.35 29.6.3.4
33.4.3.6 K-B 29.6.3.3
33.4.3.7 PH 1--14
33.4.4
33.4.4.1 B 100 150 imL,
33.4.4.2 20%NaOH PH 13--13.5( 6--8 PH

( 01g) PH 0.01mol/L EDTA
33443 1 PH 10( PH ) K-B
0.01mol/L EDTA

33.45
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34

A
X1 X S Cv
my Px

X=="
Cv=S5/x*100%
P,=2=m,/x*100%
N--

( =39

X3S
( )
¢ )
x| s| ( a x=ta.s/

VN S N t, a (N-1) ta/ VN Al
ta/v/N
| N\a | 0.10 | 0.05 | 0.025
| 2 | 2177 | 4.465 | 8.986
| 3 | 1.089 | 1.686 | 2.484
| 4 | 0.819 | 1177 | 1501
| 5 | 0.388 | 0.953 | 1.242
| 6 | 0.603 | 0.823 | 1.050
| 7 | 0.544 | 0.743 | 0.925
| 8 | 0.500 | 0.670 | 0.836
| 9 | 0.466 | 0.620 | 0.769
| 10 | 0.437 | 0.580 | 0.715
| 1 | 0.414 | 0.546 | 0.672
| 12 | 0.393 | 0518 | 0.635
| 13 | 0.376 | 0.494 | 0.604
| 14 | 0.361 | 0.473 | 0577
| 15 | 0.347 | 0.455 | 0.554
| 16 | 0.355 | 0.438 | 0533
| 17 | 0.324 | 0.423 | 0.614
| 18 | 0.314 | 0.410 | 0.497
| 19 | 0310 | 0.398 | 0.482
| 20 | 0.297 | 0.387 | 0.468
| 21 | 0.289 | 0.376 | 0.455
| 22 | 0.282 | 0.367 | 0.443
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| 23 | 0.275 | 0.358 | 0.432
| 24 | 0.269 | 0.350 | 0.422
| 25 | 0.264 | 0.342 | 0413
| 26 | 0.258 | 0.335 | 0.404
| 27 | 0.253 | 0.328 | 0.396
| 28 | 0.248 | 0.322 | 0.388
| 29 | 0.244 | 0.316 | 0.380
| 30 | 0.239 | 0.310 | 0.373
)
Gs G p w 2--3
A2
284--285
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Bn
Cb
Cha
BSI
Chsl
SIB
SICb
GW
GP
GF
GM
GC
SW
SP
SM
SC
MH
ML

CH
CL

St

MHG
MLG
MHS
MLS

CHG
CLG
CHS
CLS
CHO
CLO
MHO
MLO
) CLY
) CHE
) MHR

35

110



C
1 )

| (%) | (%)

| <0.05 | 15--20

| 0.05--0.2 | 10--15

| 0.2--0.5 | 5--10

| >0.5 | <5

2

| m(mol/kg) |

| CO# | Hcoy | soF | ¢ | ¢ | Mg* | N | K| %
| <25 | <50 | <25 | <50 | <25 | <25 | <50 | <50 | 10-15
| 25-50 | 50-10 | 25-50 | 50-10 | 25-50 | 25-50 | 50-10 | 50-10 | 5-10
| 50-25 | 1050 | 50-25 | 10-50 | 50-25 | 50-25 | 10-50 | 10-50 | 3-10
. > | >0 | >5 | >0 | 5 | >5 | >0 | >50 | <3
3

| (%) | %) | (%)

| 10--5 | <0.3 | 3--4

| 5--1 | <0.2 | 4--5

| 1--0.1 | <0.05 | 5--6

| 0.1--0.05 | <0.004 | 6--7

| 0.05--0.01 | <0.006 | 7--9

| <0.10 | <0.008 | 9--15

4

| m (mol/kg) | m(mol/kg) | (%)

| 300--200 | <10 | 3--4

| 200--100 | <8.0 | 4-5

| 100--50 | <5.0 | 5--6

| 50--10 | <3.0 | 6--9

| <10 | <1.0 | 9--15

5

| (%) | %) | (%)

| 20--10 | <1 | 5--7

| 10--5 | <0.8 | 7--11

| 5--1 | <0.6 | 11--17

| <1 | <0.2 | 17--25

6

| (%) | %) | (%)

| >50 | <0.9 | 1.0-15

| 50--30 | <07 | 1.5--2.0

| 30--10 | <05 | 2.0--3.0

| 10--5 | <0.3 | 3.0--4.0
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| 5--1 | <0.2 | 4.0--5.0
| 1-0.1 | <0.05 | 5.0--6.0
| 0.1-0.05 | <0.006 | 6.0--8.0
| 0.05--0.01 | <0.004 | 8.0--10.0
| 0.01--0.005 | <0.001 | 10.0--12.0
| 0.005--0.001 | <0.0006 | 12--15.0
| <0.001 | <0.00015 | 15.0--20.0
7 PH
0.1PH

8 (Cas0,.2H,0)

0.05%

0.2%
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(Pa)

28
27
26
25
24
23
22
21
20
19
18
17
16
15
14
13
12
11

10

1990 1992
GBJ123-88

(ugimL)( *133.322)
742 7445 (747|749
1778 (1784 1791 1797
1784 |1790 1797 1803
1991 1797 1803 1809
1797 (1803 1810 1816
1803 1809 1816 (1822
1809 (1815 1822 1828
1815 (1821 1828 1834
1822 (1828 1835 1841
1828 (1834 1841 1847
1834 (1840 1847 1853
1840 (1846 1853 1859
1846 (1853 1860 1866
1853 1860 1866 1873
1869 (1866 1872 1879
1855 (1875 1878 1885
1872 (1878 1885 1892
1878 1885 1892 1899
1885 (1892 1899 1906
1892 (1899 1906 1913

1989 10
GBJ145-90
GBJ145-90

85

751

1804

1810

1816

1823

1829

1835

1841

1848

1854

1860

1866

1873

1879

1886

1892

1899

1906

1913

1920

JTI051-85) (
85

753.5

1810

1816

1822

1829

1837

1841

1847

1854

1860

1866

1872

1879

1886

1892

1899

1906

1912

1919

1926

85

37

756

1817
1823
1829
1836
1842
1848
1854
1860
1867
1873
1879
1885
1892
1898
1905
1912
1919
1925

1932

113

760

1829

1834

1840

1847

1853

1859

1865

1872

1878

1884

1890

1897

1903

1910

1917

1924

1930

1937

1944

85

758

1820

1823

1835

1842

1848

1854

1860

1867

1873

1879

1885

1892

1898

1905

1912

1919

1925

1932

1939

762.5

1833

1839

1845

1852

1858

1864

1870

1877

1883

1889

1895

1902

1908

1915

1922

1929

1935

1942

1949

1988

765

1837

1843

1840

1856

1862

1868

1875

1882

1888

1894

1900

1907

1913

1920

1927

1934

1940

1947

1954

767

1842

1848

1845

1861

1867

1873

1880

1887

1893

1899

1905

1912

1918

1925

1932

1939

1945

1952

1959

769

1847

1853

1859

1866

1872

1878

1885

1892

1898

1904

1910

1917

1923

1930

1937

1944

1950

1957

1964

711

1852

1858

1864

1871

1877

1883

1890

1897

1903

1909

1915

1922

1928

1935

1942

1949

1955

1962

1969

774

1856

1863

1869

1876

1882

1888

1895

1902

1908

1914

1920

1927

1933

1940

1947

1954

1960

1967

1974



(91

100088)

EDTA
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101 29

1.03 1.04

1.0.5
GBJ123-88

21

211 GBJ145-90

212
213

214

2.15

002mm GBJ145-90

a a=lp/C

a (<0.002mm) C

2.1.6
217

76

2.1.8

2.2

221
50%
15%

222 226

()
75%--50%
50%

50%

NN
W W~ ~
-

0.005mm

38

GBJ145-90

JTJ051-85 ( 85 )

0.002mm
Cc 0.002mm
a=aC-? 0.002mm
Cu Cc
(Casarande)
GBJ F45-90 W, Wy Wy
10
100

CHO CLO

GBJ 145-90

““angular>”

Ba Ch, G,

()
10%
75%

()

5%

115

(
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233

2.4
241
25% ()
25%--50%
2.4.2
( % )
(%)
(2--0.07 (<0.002m Ip WL
4mm) m)
S
>80 0--3 =
50--80 0--3
>50
3--10 SM
>50
3--10
20--50 0--10 >2 MLS
<20 0--10 sp | <90 ML
<45 >10 MLS
<40 10--20 s18 | <0 cL | 7%
>45 20--30 >10 <50 SC >50
>40 10--20 >18 CLS >25
242 85 >50 24.2
242
243 217
Ip 243 1p=10 Ip=6
ML CL
245
2.4.6
249 ( 1981)
2.4.9 4000 Ip w, (76 )
249 A 5%--10% A
15% A 1993 ASTM A
BSCS-1981 1981 A
<>
25
251
50%--70%
A A
A
(salty soil) S (sand)
2.6
26.1 267
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2.6.8

2.6.10

26.11

3.01

2.6.9

3.0.3

117

3.01



39

401 4.06

407 409 ( )
10™%cm/s

51
511

512
513 105--110

Oh
5%
105--110

52
521

522 95%
523

53

531

5.3.2 500
533

5.4
541 542
ASHTO) 1974
%) 6 (20%)
0.074mm(20 )
CaC2+2H20“Ca(OH)2+C2H2
(CoHy)

5.4.2

HKC-200
2% 100 0--27% HKC-30

) 0--31%
HKC-200 HKC-30

118

15--30

1967

HKC-30

7--10

107%cm/s
105--110
6--8h 8--1
50
50
5% 65--70
(A
26 (3 ) (5
5
HKC-200 <1
(
0--90%



0--250 300 4000

8 1 Xg
64:x=36:1
x=1.78(qg)
HKC-200 200 0--12% 12% 21.43g
21.43*1.78/0806=15.7(g)( 2 )
HKC-200 100 47.39 0--12% 0--27%
(%)= / *100= / - *100=21.43/100-21.43=27.3%
HKC-30 15 15.79 0--31% 0--90%
(%)=(7.1/15-7.1)*100=90%
5.4.2
(%)
1 2 3 4 5 6
HKC-200 5.79 5.84 5.98 6.23 6.13 6.18
6.4 6.35 6.4 6.25 6.1 6.0
6.47 6.06 5.61 6.31 6.06 6.13
HKC-30 28.6 28.8 28.7 28.6 28.8 28.6
- 285 25 27.8 28.8 27.2
( ) (
)
54.2
6 HKC-30
54.3 1980
I
5.4.4
6
6.1.1
6.1.2 60--150
200--500
6--8 2--3 1--15

1.5--2mm
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6.1.3
6.2
6.2.1

6.2.3

6.3

6.3.1
6.3.3

6.4
6.4.1

6.4.2

60

6.4.4

6.5
6.5.1

622 85
HTJ
50*50
14
TC
55
)
GBJ 123-88
(KODAN 107-1985)
600
200
75 60 75
SDS01-79 85

120

@70*70

100*100
500--1000
GBJ12-88
16

0.92

60

/



652 655 BS137 BS1924
( )
0.25--0.50mm 150
170 (3038 ) 10
10 6.5.2
6.5.2
(%)
(kg) 0.611--0.617 0.615 0.0020 0.3
(kg) 3.879--3.889 3.884 0.0032 0.08
(1 ) 1.277--1.280 1.278 0.001 0.08
0.08%
1 2.5cm 1%
2 5 1%
3
6.5.3 0.3--0.6mm
0.001kg
6.5.3
(%)

(mm) -
‘ 0.6--1.2 ‘ 0.4 | 0.3
‘ 0.3--0.6 ‘ 0.2 | 0.1
’ 0.15--0.3 0.6 | 0.2
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7.1
711

7.12
00

7.13

714

%

7.2

7.3

8.1
8.11

8.1.2
8.1.3

8.14
8.2

8.2.1
8.2.2

8.2.3
8.2.4
8.25
8.2.6

4
(
5
5
100
50
5
5 20
20
0.074mm
TM-85
PH

40

105--110 4
50
5%
0.5%
0.5%
20
10%
10%
15%
0.074mm
TM-85
30 3%
1 5 3min
(PH<6.5) (pH=6.5--7.5) (pH>7.5)

122

100--105

100

0.5%

PH



(30 ) 0.5mol/L 20

(30 ) 0.25mol/L 18
(30 ) 0.083mol/L 15
pH 8 30 0.125mol/L 14
40min
( ) ( 2 )100
2h 2
0.083mol/L 15
8.2.7 0.5%
8.2.7.3 “ i
0.5% 8.
2.7
( ) 827
(%)0.05--0.005mm (%)<0.005mm
(%)
146 5.26 22.33 6.0 9.08 18.61
147 14.66 17.23 13.10 40.04 41.17
133 21 62.20 47.50 1.50 14.00
142 2.19 54.50 43.50 0.50 14.00
143 111 24.99 22.47 17.99 21.34
149 5.13 20.79 7.21 5.25 16.52
8.2.8
8.2.9 < z

d=+/[18000N/(Gs-Gwy) pw.g]*(L/t)
d=+/[180004/(Gs-Gwr) PW,]*(L/t)

n N(10%g/cm.s) a(10%g/lem.s) |a(10°g.s/cm?)
N=p*g( 981cm/s’)  1=N/g
1956 6 25 () P)
(1*10?) 1072 (8.2.9-1) (8.2.
9-2)
1984 4 27 1991 1
Pa.s 10%kPa.s
(8.2.9-1) n (8.2.9-3)

d=~/1800*10*N/(Gs-Gwr) @Wag]*(L/t)
n n
1 (P)=107Pas
102 =10%Pas
10°Pa.s=10°kPa.s
n 102 (10 ( :1800)
1 (10%
8.3
8.3.1
8.3.2 (BSI377-75) 25

1000 1500--2500W

8.3.3 (40--60 )
50 40
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( 0.5 )
100 2000
9
9.1
9.1.1 ASTM
( A ) ( C ) A C 10%
1950 76 h.=10
9.1.1-1 76 ( ) 9.1.1-2
9.1.1-1
9.1.1-1
| 2.5 | Seed  (1964)
| 2--3 | Casagrande(1958)
| 1123 | Norman(1958)
| 1.3--2.4 | Youssef
| 0.5--4 | Karlsson(1977)
| 0.8--1.6 | Norman(1985)
| 0.7--1.45 | Speopton  Northey(1952)
76 9.1.1-2
| | 76 WL | w | (kPa)
| | 58.0 | 60.0 | 5.4
| | 230 | 22.9 | 4.7
| | 225 | 21.4 | 5.2
| | 31.0 | 307 | 4.9
1000 76
W, =6.5+0.6600
(r=0.96,n=1106)
w--76 %
W -- %
13 16 ) EG-II
9.1.1-3
( kPa) 9.1.1-3
| | 76g  h.=17mm | 76g  h =10mm |ASTM | 100g  h =20mm ‘
| | 19 | 53 | 19 | 19 |
| | 13-2.7 311 | 0.7-37 | 12--2.6 |
9.1.1-3 76 17 100 20
ASTM D423 76 17 100 20
ASTM D 423 ( )
Kz Pd Pdsat
Kzzpd/pdsat
Pusa=GS/(1+Gsw)
Py /
w-_
Gs--
K,=0.95--1.0
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475

Tt h ( 9.1.1-1)
T#+=90--130kPa
( ) T=50kPa
9.1.1-2
w <35 hy
w; <35
hp
9.1.2
9.1.3
20+0.2mm)
5
15 BS1377-75
5--30
5 15
5
0.01cm
9.14 9.1.1-2
w, =20
w =24
h =20 L
logh-logco
h-w a b c
9.14
he
9.2
9.21
9.2.2
9.2.3
3
1377 5--10
9.3
9.3.1
9.3.2
9.3.3

w>35
2--3 W, <35
1979
30 )
(0 <35) hy
w,; <20
GBJ123-88
hp ab ac
ASTMD 424
6 3

125

500

100

(he=2 )

80--90

(T0121-93)

WL
4--
10
ab ac
3
BS
10--15
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